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Question Number : 1 Question Id : 7532291825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the letter-cluster series given below:

TLCN, DVMX, NFWH, XRGR, HZQB
Options :

1. ¥ DVMX

2. % NFWH

3. ¥ XRGR

4. % HZQB



Question Number : 1 Question Id : 7532291825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad S1aR-THg Y&l H TTeld U JTd Hifeie:

TLCN, DVMX, NFWH, XRGR, HZQB
Options :

1. %# DVMX

2. % NFWH

3. ¥ XRGR

4. % HZQB

Question Number : 2 Question Id : 7532291826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter-cluster series given below:

R9AP, Z171X, H25QF, ? , X41GV
Options :

1. % P32VN

2. % Q33YM

3. ¥ P33YN

4. % R32YN

Question Number : 2 Question Id : 7532291826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e H W UG JTd DITIT:

RI9AP, Z171X, H25QF, ? , X41GV
Options :

1. % P32VN

2. % Q33YM




3. ¥ P33YN
4. % R32YN

Question Number : 3 Question Id : 7532291827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word from the given alternatives.

BACK : DBFV :: HEAL : ?
Options :

1. ®# JGCN

2. % PBXJ

3. % KXJB

4. ¥ PJBX

Question Number : 3 Question Id : 7532291827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy # i 77T fowedl B O T 3feR &1 gA1d oY)

BACK : DBFV :: HEAL : ?
Options :

1. ®* JGCN

2. % PBXJ

3. % KXJB

4. ¢ PJBX

Question Number : 4 Question Id : 7532291828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word pair from the given alternatives.

Iraq: Baghdad : : 7 : ?



Options :

1. # Saudi Arabia : Abu Dhabi

2. % United Arab Emirates : Riyadh
3. % Syria : Damascus

4. ¥ Afghanistan : Islamabad

Question Number : 4 Question Id : 7532291828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy 9, faT 7 fosey O 9 9wiid Wsal & St &1 gA1d Y|

XD - dlqlc::?:?

Options :

1. % gSHal 3R : 3 UTall

2. mewm
3.« i ; gffe®

4. % I ; SEAHIEG

Question Number : 5 Question Id : 7532291829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain language, TRIANGLE is coded as “34821659”. How is ‘REALIGN’ coded in that code?
Options :

1. % 9425861

2. % 2046851

3. % 4925816

4. % 4925861

Question Number : 5 Question Id : 7532291829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe fpedt fAfSd UToT o, TRIANGLE ®1+34821659” Sicd a1 STl 8] ‘REALIGN” B &l Sicd Tl SITEm?
Options :

1. % 9425861

2. % 2946851

3. % 4925816

4. v 4925861

Question Number : 6 Question Id : 7532291830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a company, Suresh's position is seventy five from the right end and eleventh from the left end, how many employees are there in that
company?

Options :

1. * 82

2. % 83

3.4 85

4. % 86

Question Number : 6 Question Id : 7532291830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH HUA H, Y= BT VI 28 BR I TI5TR 3R g1 BR Y 7REal 5, 39 HU- 1 fba- HHART 52
Options :

1. % 82

2. % 83

3.¥ 85

4. % 86

Question Number : 7 Question Id : 7532291831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Six persons Rahul, Pankaj, Praveen, Puneet, Rajat and Pawan are sitting in a row of office at different positions, and each got different salary i.e.



- 20000, 10000, 8000, 50000, 45000and30000, but not necessarily in the same order. Rajat got 45000 salary. Praveen has neither got 8000 nor
30000 salary. The one who gets salary 8000 does not sit at the extreme end of the row. Rajat is sitting between Puneet and Pankaj. Praveen is
second to the left of Puneet. Rahul is sitting at the left end of the row and got 50000 salary. Pawan sits near Praveen and gets 10000 salary.

How much salary did Pankaj get?
Options :

1. ¥ 30000

2. % 8000

3. % 20000

4. % 20000 or 30000

Question Number : 7 Question Id : 7532291831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fad g, Tabol, TaT, g, Io7d 3R Ua- Srafed o1 T tfad & fafid R )R 96 8, 3R Ud® B S{e-3@T da- fHd & ofufd -
20000, 10000, 8000, 50000, 45000 3R 30000, T SR a1 fb ST &4 A B | I5Td BT 45000 I A & 1 Udtor 61 9 Y 8000 SR A G

30000 I fHAT 8 1 8000 I YT S AT Afa Ufad o Sifad SR W g1 o6l g | 9, Hid IR Udhol & did 961 5 | Udior, gHid & o
T TR WM R B | Vg Ufdd & 918 3R TR 937§ 3R 39 50000 I YT 34T 8 | T, TAT01 & U 98T § 3R 10000 da- U] BT g |

Uohol ! T aa- faan
Options :

1. ¥ 30000

2. % 8000

3. % 20000

4. % 20000 T 30000

Question Number : 8 Question Id : 7532291832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at
variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:
No road is traffic.



Some traffic are licence.

Conclusions:
(I) Some licence are road.
(IT) No licence are road.

Options :

1. % Only I follow

2. % Only II follows

3. % Either I or II follows

4. #® Neither I nor II follows

Question Number : 8 Question Id : 7532291832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofeiead vs o & sy AT U & e a1e & sy 19 11 fU TTU & 3! 37 ST 1 G HIFHT &, Wl 81 4 Fdard el 9 fret uefia
gid 81 | fau U Frem el & 9 31 91 e AU 70 o &7 difdhs ©0 § S8R0 dRal 5 |

DHY:
IS TSP AT I8! g
$T AT AR 3|

feen:

() TS AT ISP & |

(II) BI3 ASHY JS& ol g
Options :

1. % $Had FT5HY [ 3FIERU Sl §
2. % Had BN 11 IR0 Hal §
3.« I Fam 1 37 Sy 11 SRl Rl §
4. % 3 freend 17 8 sy 11 SR a1 ]

Question Number : 9 Question Id : 7532291833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three statements are followed by two conclusions numbered I and II. You have to consider these statements to be true, even if they seem to be at



variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

No lake are river.

All river are valleys.
Some valley are hills.

Conclusions:
(I) Some hills are rivers
(IT) Some rivers are valleys.

Options :

1. % Only I follow

2. % Only II follows

3. # Both I and II follow

4. ® Neither I nor II follows

Question Number : 9 Question Id : 7532291833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad gy & 5 oy e 7w g e a1e &) e 1 9 11 fRT U § 3iueh! 39 Y=l &) I A1 8, Hal 81 9 Fagnd awt 9 fie udia
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fsep: _

(1) TS UeISal AT €|

(1) S Afear aifedr g

Options :

1. % PHad FpY [ SFIER0T el §

2. ¢ Had BN 11 IR0 Hal §

3. % G (FIShY [ T 11 SFJR0T %l &
4. % Fq Fpy 17 81 e 11 SFERUI R 8



Question Number : 10 Question Id : 7532291834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three statements are followed by three conclusions numbered I, IT and III. You have to consider these statements to be true, even if they seem to
be at variance with commonly known facts. Decide which of the given conclusions logically follow/s from the given statement.

Statement:

Some radio are moon.
Some moon are sun.
Some sun are ocean

Conclusions:

(I) Some moon are ocean.
(IT) No moon are ocean.
(IIT) Some radio are sun.

Options :

1. * Only I follow

2. % Only I and II follows
3. % Either I or II follows

4. % None follows

Question Number : 10 Question Id : 7532291834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & o U= fqu T & S a1g & s 1,11 3 111 fSU U § 0] 3 S &1 I AT 8, Hal 81 o dwnd a9 g
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(I1) BTS dig IR g g
(1) 3 T WA

Options :

1. % Had (sHY [ 3T HRT §

2. % Had SHY [ TUT 11 IR0 Hdl &
3.« I e Fsa 1 31 Sy 11 SRl Rl §
4. % Plg AT T8l HdT &

Question Number : 11 Question Id : 7532291835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the set of numbers that is similar to the following set of numbers.

(6, 36, 63)
Options :

1. % 7,49, 98
2.9 8, 64,46
3. %9,84,45
4. % 11,111, 84

Question Number : 11 Question Id : 7532291835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T GHE HT T DIford ol (Y T THE & THET 5 |

(6, 36, 63)
Options :

1. % 7,49,98
2.9 8, 64,46
3. % 9,84,45
4. % 11, 111, 84



Question Number : 12 Question Id : 7532291836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below, a statement is followed by two conclusions. Study the conclusions and select the correct option as the answer.

Statement:
Q>R>S>P

Conclusions:
I.LS>P
II. S=P

Options :

1. ¥ Either I or II follows

2. % Both I and II follow

3. % Neither I nor II follows
4. % Only II follows

Question Number : 12 Question Id : 7532291836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR TN UY H YT F 3MUR WR & e fHepTa od 8 | Feepd o1 31ezae 63 iR IR & =0 § gt f[dshed o1 a9 B |

DY
Q>R>S>P

frpy-
[.S>P
II.S=P

Options :

1.« Il | a7 11 IR0 Rl §

2. % G | 3R 11 SFJART R &

3. % 9al | RIS I SRV AT §
4. % HI I IRV HT §



Question Number : 13 Question Id : 7532291837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

48, 24, 36, 90, ?
Options :
1. # 215
2.9 315
3. % 115
4. % 415

Question Number : 13 Question Id : 7532291837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35 ust H, fT 7T 9 @ W Ug b1 98- He |

48,24, 36, 90, ?
Options :
1. % 215
2.9 315
3. % 115
4. % 415

Question Number : 14 Question Id : 7532291838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents ladies, circle represents traditional outfit, pentagon represents western outfit and square represents
sarees.

What does letter ‘L’ represents?



Options :

1. # Ladies who prefer western outfit and traditional outfit but not sarees
2. ¥ Ladies who prefer western outfit and sarees but not traditional outfit.
3. % Ladies who prefer western outfit, sarees and traditional outfit

4. # Ladies who prefer traditional outfit and sarees but not western outfit.

Question Number : 14 Question Id : 7532291838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaied sma & Rys afgarsit &1 ufaffia w1 ], 99 URuRe tene o1 ufafaftia @ g, deemior ufddt urene &1 ufafAfia
&l & iR I ifsal &1 ufafAfda s g|

&R L fpge ufafifia 82




Options :

1. % O Aigans ufEed g oIk URuRe Uil Ui Bdl & dfe Iret el
2. ¢ S g ufdet grene iR A1l udie ot € dfer urRuRke o= g1
3. % o) Ay ufde g, It 8IR URURe U e ol &

4. % Q AfFATY S URURS UIRMH 3R TSt TS Hal § alfdp Ui Ui g

Question Number : 15 Question Id : 7532291839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents social gatherings, circle represents weekend parties, pentagon represents college reunion, rectangle
represents marriage parties and square represents youngsters.

What does letter ‘G’ represents?
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1. #® Youngsters who don’t like social gatherings, college reunion, but marriage parties and weekend parties

_n
&
—

Options :

2. ® Youngsters who like social gatherings, college reunion, marriage parties and weekend parties
3. ¥ Youngsters who like social gatherings and college reunion but not weekend and marriage parties

4. ® Youngsters who like social gatherings, college reunion and marriage parties but not weekend parties

Question Number : 15 Question Id : 7532291839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

mmﬁ,a@mmmwmm%ﬁmmwmmawmmm
gfafAfia ar 7, 3mad faarg wiéat 1 ufafafi Har g Sik o garsfi &1 ufaffid #rar gl
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Options :

1. % gaT oIl QHToIh THRIGH, Pictol G B U¥G Tg] &d g, didh- [darg Tfed! 3R Awrgid Urfedl &l UG #3d &
2. % a7 S TG THRIET, Piaiet YAfierH, f3arg et 3ik Turgia uifiéal & udig wvd §

3. ¢ Qa1 S IS GHARIET 3R Hlaret GAHTH 61 URiE S ¢ alfs Srgid 3R farg miféat o) -1l

4. % a1 S WIS THRIGH, Hiciel gAHH IR [darg uifédl o1 uRig $d § i+ gereid uiiedl df gt

Question Number : 16 Question Id : 7532291840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

A
4"
44l
1Al

Options :



=>
="
1. ® é
=>
—
2.9 g
=>
—
3. % $
=
—
4, % g

Question Number : 16 Question Id : 7532291840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ST DT g9 D Sl FEfeiRad spfa g § Uy g (2) ol ufaiiud s |
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Options :



Question Number : 17 Question Id : 7532291841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one in which the question figure is hidden/embedded.

% o

Options :

o/ 00
00%

00
3%

)

0

0
o/
00




oo

Question Number : 17 Question Id : 7532291841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu T faehedl & 9, 39 3Mpfa o1 w0 B3 Forgd Uy i srafifed / fdi 82

% o

Options :
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)
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0

0
o/
00
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Question Number : 18 Question Id : 7532291842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one which is the mirror image of given Question Figure .

=TT =

Options :

vee




3. ¢

Question Number : 18 Question Id : 7532291842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e faenl & T, I A1Hfa &1 g9 B 51 fou 7T Uy 3nepfa &1 gdur ufafsra g1

21111117 =

Options :



Question Number : 19 Question Id : 7532291843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the number of rectangle in the given figure.



Options :
1. %6
2.¥10
3.% 11
4. % 9

Question Number : 19 Question Id : 7532291843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 TS SMTHTa T 3Tad &1 et J1d BT |

Options :
1. %6
2.¥10
3.% 11



4. %9

Question Number : 20 Question Id : 7532291844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives select the one that will complete the question figure.

|

Options :

1. ¥

S [




Question Number : 20 Question Id : 7532291844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U famedl O 9 39 fadwed &1 AT S Uy 3HTHid &l R dR|

&

Options :

2

1. ¥




4. %
General Awareness
Group Number : 2
Group Id : 753229101
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Awareness
Section Id : 753229101
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229122
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532291845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ramman is a religious festival of which state?
Options :

1. # Jharkhand

2. % Uttarakhand

3. % Bihar

4. % Uttar Pradesh

Question Number : 21 Question Id : 7532291845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T {5 I BT 1fifs TER 82
Options :

1. ® SRTES

2. ¥ JTIRIES

3. % fogR

4. % JW UK

Question Number : 22 Question Id : 7532291846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monuments are not in the state of Gujarat?
Options :

1. # Somnath temple



2. % Sunehri Mahal
3. * Palitana
4. # Lakhpat

Question Number : 22 Question Id : 7532291846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o @ ®F 91 WIRS ToRTd I H 781 82
Options :

1. % I AR

2. ¢ IR HEd

3. % Ui

4, % d9Ud

Question Number : 23 Question Id : 7532291847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following festival is also known as Gokulashtami?
Options :

1. ¥ Ramnavami

2. % Guru Nanak Jayanti

3. % Janmashtami

4. ¥ Rakshabandhan

Question Number : 23 Question Id : 7532291847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 9§ ford ISR 1 Tpered! & ATH & 4} ST oirell 2

Options :
1. % JHAgH!
2. % % S Sl



3.« SFVHT
4. % J&EYA

Question Number : 24 Question Id : 7532291848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term ‘Googly’ is used in which sport?
Options :

1. # Football

2. % Baseball

3. % Hockey

4. ¥ Cricket

Question Number : 24 Question Id : 7532291848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tl XM BT TRINT foh Wt & fopam Tl 82
Options :

1. % Hedid

2. % q9Hdid

3. % Gt

4. ¥ fope

Question Number : 25 Question Id : 7532291849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Indian to be awarded the ‘Rajiv Gandhi Khel Ratna’ award?
Options :

1. # Abhinav Bindra

2. ¥ Vishwanathan Anand

3. # Vinesh Phogat



4. % Manika Batra

Question Number : 25 Question Id : 7532291849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Tofta et W Y RIDHR T T B T g dd HRATG DI 32
Options :

1. % g fofgm

2. ¢ T 3MHe

3. % fgd=I BT

4. % HiYDI A

Question Number : 26 Question Id : 7532291850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following awards did not get Mahendra Singh Dhoni?
Options :

1. # Padma Shri

2. # Padma Bhushan

3. % Padma ViBhushan

4. ¥ Rajiv Gandhi Khel Ratna

Question Number : 26 Question Id : 7532291850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRd & ¥ &1 91 [REBR He s Rig o &1 el 5 g2
Options :

1. ® g 4t

2. % UsT Yy

3. ¥ =T fqyuor

4. % roitq i @ I




Question Number : 27 Question Id : 7532291851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was The first Women External Affair Minister of India?
Options :

1. ¥ Mrs Indira Gandhi

2. % Mrs Pratibha Patil

3. # Mrs Sonia Gandhi

4. % Mrs Jayalalitha

Question Number : 27 Question Id : 7532291851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YIRd 1 Ugel! Higa fadr w3t i i
Options :

1. ¢ gie SfaRr gt

2. % e gfcyr arfed

3. % et g idh

4. % At STaferdm

Question Number : 28 Question Id : 7532291852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tsang Yin-hung, recorded “world’s fastest ascent of Everest by a woman” in just hours.

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 18 hours

2. 26 hours

3. 22 hours



4. 14 hours

Question Number : 28 Question Id : 7532291852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR APaa e F T AR g iz ) W o TR Te & )
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. 18°¢
2.269¢
3.22°6¢
4.149C

Question Number : 29 Question Id : 7532291853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the period of the 11th five-year plan of India?
Options :

1. % 2012 to 2017

2. % 2007 to 2012

3. % 2002 to 2007

4. % 2017 to 2022

Question Number : 29 Question Id : 7532291853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Dt 11 df Uyl TIeT b 3afey - ot

Options :
1. % 201292017



2. 2007 92012
3. % 2002 92007
4. % 201792022

Question Number : 30 Question Id : 7532291854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the security which lenders demand against loan.
Options :
1. ¥ Collateral
2. % Cheque
3. # Draft
4. % Letter

Question Number : 30 Question Id : 7532291854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g RN O BURII BU & da A § |
Options :

1. ¢ Dlecd

2. % b

3. % GIUc

4. % AR

Question Number : 31 Question Id : 7532291855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the given options is not included in the state’s list?

Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.



Options :

1. Agriculture

2. Law and Order
3. National Defence
4. Education

Question Number : 31 Question Id : 7532291855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U fasmedl § O S A1 g &1 &t H§ e Tal 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Py

2. BT 3R AT

3. P &
4. TRiem

Question Number : 32 Question Id : 7532291856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the oldest political party of India?
Options :

1. # Communist Party

2. # Bharatiya Janta Party

3. % Indian National Congress

4. # All India Anna Dravida Munnetra Kazhagam

Question Number : 32 Question Id : 7532291856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
YR BT I AT ISP S DI 1182
Options :

1. % HRAwE el

2. % YR Sfar uréf

3. ¥ HRAIG IS HiUd

4. % 3fid Sfear o 2fde gAd HeTH

Question Number : 33 Question Id : 7532291857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The mode of nutrition found in mushrooms is
Options :

1. # Parasitic

2. % Symbiotic

3. % Saprophytic

4. % Holozoic

Question Number : 33 Question Id : 7532291857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR B ORI I AT AN ST amed g
Options :

1. % GRfd!

2. % Hgoild!

3. ¢ gdlgSital

4. % BIANIgD

Question Number : 34 Question Id : 7532291858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following fossil fuels is considered environment friendly?
Options :

1. ¥ Natural Gas

2. % Coal

3. # Petroleum

4, % Kerosene

Question Number : 34 Question Id : 7532291858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 Siiard S99 9afaRul & 3% d HHT Sl 82
Options :

1. ¢ TIHiad 9

2. % Bl

3. % Uciferay

4. % St ®1dd

Question Number : 35 Question Id : 7532291859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The finest quality of iron ore is

Options :

1. # Siderite

2. % Hematite

3. ¥ Magnetite

4. % Limonite

Question Number : 35 Question Id : 7532291859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3T P garaH ora gl

Options :



1. % grgese
2. % gHCISC
3. ¢ HcTse
4. % foHATSC

Question Number : 36 Question Id : 7532291860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The is a collection of 1,028 hymns divided into 10 mandalas.
Options :

1. # Samaveda

2. ¥ Rigveda

3. % Yajurveda

4. # Atharvaveda

Question Number : 36 Question Id : 7532291860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 Heal & fauTiord 1,028 HSH! &1 TP W8 &
Options :
1. % HdgE
2. ¥ g
3. % Agde
4. % 3dag

Question Number : 37 Question Id : 7532291861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dr. Annie Besant and Lokmanya Tilak set up the in the country modeled on the Irish movement to spread awareness.
Options :

1. # Satyagraha



2. # Indian National Congress
3. % Home Rule league
4. # Gadar Party

Question Number : 37 Question Id : 7532291861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T s¥ic 3R A HY fad® A SEdd ham & e sl siglda W uRa Swd & RO &1
Options :

1. # e

2. % YR AP HIUH

3. ¥ B = o1

4. % TR Uref

Question Number : 38 Question Id : 7532291862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Axis powers of the second world war were Germany ,Italy and
Options :

1. # France

2. % Japan

3. ® Poland

4. ¥ Austria

Question Number : 38 Question Id : 7532291862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

facta fay gg ot 3 wfaqar s, geelt $ik off|
Options :

1. % g

2. % S



3. % Olds
4. % 3fffecar

~

Question Number : 39 Question Id : 7532291863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the Padma Shri awardee Dogri writer and poet who passed away recently.
Options :

1. # Sridhar vembu

2. ¥ Padma Sachdev

3. % Birubala rabha

4. ¥ Rangaswamy kashyap

Question Number : 39 Question Id : 7532291863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 REHR § TG STRI aRadh SR Hid BT A1 Jargt foHw! g1d gt & Heq g1 Tl
Options :

1. % iR arg

2. ¢ TR 99cd

3. % faoarer Il

4. % {EH H=gU

Question Number : 40 Question Id : 7532291864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the present Union Minister for Science & Technology?
Options :

1. ¥ Jitendra Singh

2. # Smriti Irani

3. % Piyush goyal



4. # Jyotiraditya scindia

Question Number : 40 Question Id : 7532291864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Hard faT SR Uit w4l B &2
Options :

1. ¢ fids Rig

2. % WA A

3. % U4y TMigd

4. % SifaRriee R
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Question Number : 41 Question Id : 7532291865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifa=225.b=226 andc=227. thenthevalueofa’ +b* +¢* — 3abcis :

Options :
1. ® 2934
2. % 2394
3. % 1956
4. ¥ 2034

Question Number : 41 Question Id : 7532291865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ITga=225.b=226 3T c=227.99 a’+ b* +c* — 3abe T ATA FIT ZIFM?

Options :
1. % 2934
2. % 2394
3. ® 1956
4. ¥ 2034

Question Number : 42 Question Id : 7532291866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

702 x 18 + 81 - v441 =7?percent of 45

Options :
1. % 200
2. % 150
3. % 400
4. % 300

Question Number : 42 Question Id : 7532291866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fgferfad uy o usarae g (2) & R TR 1 HE ST

702 x 18 = 81— /441 = 45 F71? gyfgeg

Options :
1. % 200
2. % 150
3. % 400
4. % 300

Question Number : 43 Question Id : 7532291867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?



11 xX11X11+5X5X5

3
(11)*+(5)*-11 x5 |

Options :
1. % 12
2. % 13
3. % 15
4. 16

Question Number : 43 Question Id : 7532291867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad us & usara® g () & RIM IR &1 {1 STE

11 x11%11+5X5Xx5
(11)*+(5)*-11 x5

l.j

Options :
1. % 12
2. % 13
3. % 15
4.9 16

Question Number : 44 Question Id : 7532291868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the greatest number that will divide 209 and 347 leaving remainder 5 and 7 respectively?
Options :

1. %19

2. % 16

3.¥ 17



4. % 23

Question Number : 44 Question Id : 7532291868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T AT © FR 209 3R 347 BT HNT 33 TR AYHA HHI: 5 3R 7 U 8idT 82
Options :

1. * 19

2. % 16

3.¥ 17

4, % 23

Question Number : 45 Question Id : 7532291869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a survey among some people, it is found that their average protein diet is 60 mg per day. After a suggestion, 30 percent of them doubled their
protein diet while the rest tripled their protein diet. The new average of their protein diet is 155 mg/day. What is the earlier average protein diet of
30 percent of them?

Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 45 mg/day

2. 54 mg/day

3. 48 mg/day

4. 50 mg/day

Question Number : 45 Question Id : 7532291869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HS ANl & S U Fa&or H Ig UT 7T § foh ST 3igd W SeR ufd fa 60 frefium 81 T gaima & a1e, S99 9 30 Wfa=rd 7 s
TS 3MER P G B [T, STafdh ST A 30 WK SMER B <1 AT R ¢aT| 3% Ui S8R &1 =741 3HINd 155 Beom/fea g




ITH & 30 UFA=Td 1 Uge BT SRId UISH 3R 1 52
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 45 fycfum/fea

2. 54 e feq

3. 48 frcoma/ e

4. 50 foeoma/Afeq

Question Number : 46 Question Id : 7532291870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person covers a certain distance in 90 steps. If he increases the length of each step by 20 percent, then find the percentage decreased in the
number of steps to cover the same distance.

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.75
2.80
3. 60
4. 65

Question Number : 46 Question Id : 7532291870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afad Th A gl ®I 90 HeH! H 79 Il 5 | Afe I8 TS HeH $I aaTs H 20 UIRG &1 g BT &, O THM 8 &1 0 S &
fore wadl ot T § ! &1 Ufa=Id 1d i |

Note: For this question, discrepancy is found in question/answer. So,this




question 1s 1gnored for all candidates.
Options :

1.75

2. 80

3. 60

4. 65

Question Number : 47 Question Id : 7532291871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person spends 35 percent of his total salary in Food, 30 percent he invests in a scheme and remaining amount he saves. If his savings is
Rs.4340, then how much amount he invests?

Options :

1. % Rs.2680
2. % Rs.4320
3. ¥ Rs.3720
4. % Rs.2840

Question Number : 47 Question Id : 7532291871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A 30 Hd da- BT 35 YA W TR Td B 8, 30 U= Th Ioi1 TR a1 H3al g 3R A S-RIR S99 Bl ¢ | (G SD!
AT 4340 U B, AT ST et SRIRT Faw &1 g2

Options :

1. % 2680 30T
2. % 4320390
3. ¢ 3720 390
4. % 2840 3UY

Question Number : 48 Question Id : 7532291872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

By selling an article, a shopkeeper incurs a loss of 16 percent but if he increases the selling price by Rs.140, there would be a profit of 24 percent.
Calculate the cost price of the article.

Options :

1. ¥ Rs.280
2. # Rs.440
3. % Rs.610
4. ¥ Rs.350

Question Number : 48 Question Id : 7532291872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I P! 99 W, T GHGR Bl 16 U=Id &1 g1 8l &, R TG a8 faha e DI 140 30T A a1 <, T 24 UTI=Id &I &Y RN | aG
D1 v oI JTd Piog |

Options :

1. % 280 W

2. % 440 3UY

3. % 610 3T

4. ¢ 350 59

Question Number : 49 Question Id : 7532291873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Ganguly purchased 50000 mangoes at 8 each. He found that 20 percent of those were spoilt and hence were found unfit to be sold. At what
price should he sell each of the remaining mangoes so as to get an overall profit of 30 percent?

Options :
1. % 12
2.% 13
3.% 10
4, % 15

Question Number : 49 Question Id : 7532291873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ot TR 50000 3TH WS SR Ul 3 8 =Y & WleT | IT U o I8 F 20 UA=T 37 WRIE 81 Y Y 3R 3R o o & forg
uged U1 Y Y & T T J YIS DI fg Hid IR o911 Mg difes 30 Uler=rd &1 9u3 oy e ga?

Options :
1. % 12
2.% 13
3. % 10
4. % 15

Question Number : 50 Question Id : 7532291874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a colony, the ratio of two-wheelers to four-wheelers is 11 : 9. Among the four-wheelers, one-fourth are petrol and the remaining 81 are diesel.
How many two-wheelers are there in the colony?

Options :
1. % 99
2. % 88
3.9 132
4. % 121

Question Number : 50 Question Id : 7532291874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
waﬁmﬁ%aﬁ%meﬁﬁﬂq%maﬁw&rﬁw 11: 9 81 IR Ufean aTg+i § U d1uTs Ueid 3R ]9 81 Soidl § | Braii & fhar
gUTeaT a6+ 87

Options :
1. ®* 99
2. % 88
3.9 132
4. % 121



Question Number : 51 Question Id : 7532291875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ratio of milk and water in a mixture is 5 : 4 and 45 litres of mixture are taken out and 15 litres water is added. Now, quantity of milk in the
mixture becomes 4 litres more than that of water, then what is the initial quantity of mixture?

Options :

1. # 172 litres
2. % 213 litres
3. % 216 litres
4. % 190 litres

Question Number : 51 Question Id : 7532291875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 0T T g 3R U T 0T S : 4 § 3T A0 &7 45 cHex a1 FapTa for Sidr 8 8iR 15 ditex urt fiyer faar Srar g1 ora frsor o
G 1 HTAT, U 1 AT 9 4 Tiex S €, af fsyor ) uRfes A fasat ot

Options :

1. % 172 ¢leR
2. % 213 ¢leR
3. ¢ 216 IR
4. % 190 dlex

Question Number : 52 Question Id : 7532291876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between compound interest (annually) and simple interest on a certain sum at 10 percent per annum for 2 years is Rs.42. What is
the sum?

Options :

1. % Rs.5200
2. % Rs.4200
3. # Rs.8400
4. % Rs.2100



Question Number : 52 Question Id : 7532291876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P TR W 10 vfawrd aitfer o= T 2 oot § WUR 3R Thgfa ST & o9 &1 3fdR 42 39U § | AR R 32
Options :

1. % 5200 39

2. ¥ 4200 $9Y

3. % 8400 3T

4. % 2100 3T

Question Number : 53 Question Id : 7532291877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boat goes 48 km upstream and 56 km downstream in 12 hours. It goes 60 km upstream and 42 km downstream in 13 hours. Find the speed of
boat in still water (in kmph)?

Options :
1. = 14
2.9 10
3. % 20
4. % 24

Question Number : 53 Question Id : 7532291877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 19 12 ¢ T 48 fHeit o1 & ufdgmd fo=n # 8iR 56 frt UR1 & o faxn & Kt 81 38 13 8¢ H 60 fmtft 41 & ufdgpa flomn & iR
42 Tl 4T & Srgepa fa=n & ol ¢ | FRR Ot & A71a 1 T1fa 1 Y (ot Uil der e

Options :

1. = 14

2.¥10

3. % 20

4. % 24



Question Number : 54 Question Id : 7532291878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A beats B by 125 m in a kilometer race. Find B’s speed if A’s speed is 16 m/sec.
Options :

1. # 21 m/sec

2. % 7 m/sec

3. % 14 m/sec

4. % 18 m/sec

Question Number : 54 Question Id : 7532291878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UF fHaHeR BIASH A, B P 125 MR A B AT |1 TR A DI I 16 He/Adrs g O B B! 711 1 B |
Options :

1. % 21 HicAdHe

2. % 7HICRADS

3. ¥ 14 HICRADS

4. % 13 HIy/Hde

Question Number : 55 Question Id : 7532291879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three pipes can fill a tank of 900 liters in lhour. The rate of the first pipe is 3 liters per minute and the ratio of the rate of the second pipe to the
third pipe is 3 : 1. What is the time to fill an empty tank of 1500 liters when the first pipe and second pipe, work together?

Options :

1. ¥ 125 min
2. % 80 min
3. % 150 min
4. % 90 min



Question Number : 55 Question Id : 7532291879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<M O18T 900 TR Bt Thl DI 1 He & UR T g | T8 UTSY B X 3 Tex Wfd e § 3R G¥R UI8T &1 &R &1 dieR U1sy &1 ax § 3fuTd
3: 181 1500 Tex & Well Tt & WRA T ford=T THT TR, 576 UGl U2y 3R IR UIgy, Udh 1Y HIH B2

Options :

1.+ 125 e
2. % g0 e
3. % 150 fiAe
4. % 90 fie

Question Number : 56 Question Id : 7532291880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 10 persons can do a job in 20 days. Then 20 persons with the twice efficiency can do the same job in:
Options :

1. % 10 days

2. % 12 days

3. % 5 days

4. % 15 days

Question Number : 56 Question Id : 7532291880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 10 A [t HTH BT 20 fT T T AHhd g1 A1 GNHT & dTal 20 Hfad I HH B! fava fo- H R Gohd &2
Options :

1. % 10feH

2. % 12137

3.¢ 5feA

4.% 15183




Question Number : 57 Question Id : 7532291881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the diameter of the base of a right circular cvlinder is reduced by 33; percent
and its height is doubled, then the volume of the cylinder will?

Options :

1
Increase by 1 percent
1. %

, % Remainunchanged

1
Increase by 11; percent
3. %

1
Decrease by 117 percent
4.

Question Number : 57 Question Id : 7532291881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aﬁﬁmmm#mﬂ:maﬁrsaé gfaed 87 = fear sarg
AT 3T FTTS SRS & ST 6. af Aol T AT g

Options :

| 15 TN HraiE



| S R

11; wfeee # gfx

3. %

11§ gfderd & Far

4.

Question Number : 58 Question Id : 7532291882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person wants to make an open silver case for a mobile such that the mobile exactly fits in the case. If the length, breadth, and thickness of the

mobile are 10 cm, 4 cm, and 0.5 cm respectively and the rate of the silver sheet used is Rs.50 per cm?, then what can be the cost of the silver
case?

Options :

1. ¥ Rs.2700
2. % Rs.3000
3. % Rs.2500
4. % Rs.3200

Question Number : 58 Question Id : 7532291882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i AIaTSd & (o8 U Gal dia] &I [Sea ST Irgdl & dlidh Alaigd fsaa H fSegpd fihe gl S| af Hiasd &t adls, aIels 3R
?{I‘s‘mz 10 TR, 4 Tt 37K 0.5 WY B 3R ITANT 1 TS 77 Bt e B &R 50 T vl 2 B, N A1) & ey Y piwa . &) wepddl
?

Options :

1. ¥ 2700 S
2. % 3000 390
3. % 2500 3UY




4. % 3200 3W

Question Number : 59 Question Id : 7532291883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The given table shows the rate of compound interest given by six banks on fixed deposits.

Bank Rs.10000 to | Rs.100000 to | Rs.500000 to | Rs.1000000 or

Rs.99999 Rs.499999 Rs.999999 more
A 5% 5.5% 6% 6.3%
B 5.2% 6% 6.3% 1%
e 4% 4.2% 3% 5.8%
D 6% 7% 89 9%
E 6% 6.3% 7% &%
F 5% 6% 6.3% 1%

If a person deposits Rs.600000 in fixed deposits for 2 years in bank C and Rs.200000 in fixed deposits for 2 years in bank F, then what is the total
interest earned by him from both banks?

Options :

1. * Rs.84280
2. % Rs.90210
3. ¥ Rs.86220
4. % Rs.80440

Question Number : 59 Question Id : 7532291883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g rferept Trafel ST IR B8 dbl g1 faT 71T Tshgfeg sTel &1 X &1 axifc 3|




= %.10000 %.100000 & %.500000 & | %.1000000 =T
H $.99999 F.495999 %.999999 oAIgl
A 3% 5.3% 6% 6.3%
B 5.29 6% 6.3% 7%
C 4% 4.2% 5% 5.8%
D 6% 7% 8% 9%
E 6% 6.3% 7% &%
F 3% 6% 6.3% 1%

gfe oIs dfdd o6 ¢ H 2 98 & e Irafd 51 & 600000 TUT 3R o6 F & 2 a8 & 1w Irafdr smr & 200000 TUT STH ST 7, @ GIHI Sob!
T 3P GRI 3fSTd Ha STl a1 82

Options :

1. % 84280 30U

2. % 90210 3T

3. ¢ 86220 3T

4. % 80440 ¥TY

Question Number : 60 Question Id : 7532291884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the total number of news paper readers (in thousands) in a city during 6 months and percentage of Hindi news
paper readers.
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m Total readers  ® % of Hindi news paper readers

Note : Total readers = Hindi news paper readers + English news paper readers

What is the difference between Hindi news paper readers during January, February and March together and English news paper readers during
April, May and June together?

Options :

1. # 175600
2. ¥ 154500
3. % 164200
4. % 138700

Question Number : 60 Question Id : 7532291884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # 175600
2. ¥ 154500
3. # 164200
4. % 138700
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Question Number : 61 Question Id : 7532291885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The Delhi Government and the students has contended that the single judge’s decision was based on incorrect facts.
Options :

1. ¥ The Delhi Government and the students has

2. % contended that the single judge’s decision

3. % was based on incorrect facts

4. % No error

Question Number : 61 Question Id : 7532291885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

The Delhi Government and the students has contended that the single judge’s decision was based on incorrect facts.
Options :

1. ¥ The Delhi Government and the students has

2. % contended that the single judge’s decision

3. # was based on incorrect facts

4. % No error

Question Number : 62 Question Id : 7532291886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

A quick analysis suggests that the sources that contribute to poor urban air quality are constant.
Options :

1. ¥ A quick analysis suggests that

2. ® The sources that contribute to poor

3. % Urban air-quality are constant

4. ¥ No error

Question Number : 62 Question Id : 7532291886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One part of the sentence below may contain an error. Identify the part. If there is no error, choose ‘No error’.

A quick analysis suggests that the sources that contribute to poor urban air quality are constant.
Options :

1. # A quick analysis suggests that

2. % The sources that contribute to poor

3. # Urban air-quality are constant

4. ¥ No error



Question Number : 63 Question Id : 7532291887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

The sun rises two hours earliest in Arunachal Pradesh as compared to Gujarat.
Options :

1. ¥ two hours earlier
2. % two hours’ early
3. * two hours early

4. ¥ No improvement

Question Number : 63 Question Id : 7532291887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute the underlined
segment, select ‘No improvement’.

The sun rises two hours earliest in Arunachal Pradesh as compared to Gujarat.
Options :

1. ¥ two hours earlier
2. % two hours’ early
3. ® two hours early

4. ¥ No improvement

Question Number : 64 Question Id : 7532291888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

I gave the countryman (what few money I had) in my pocket, for the timely assistance he had afforded me.



Options :

1. # the few money I had

2. # what less money I had
3. ¥ what little money I had

4. ¥ No Improvement.

Question Number : 64 Question Id : 7532291888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the bracketed part in the given sentence. If there is no need to substitute the bracketed part, select
‘No improvement’.

I gave the countryman (what few money I had) in my pocket, for the timely assistance he had afforded me.
Options :

1. # the few money I had

2. % what less money I had

3. ¥ what little money I had

4. % No Improvement.

Question Number : 65 Question Id : 7532291889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Emperors need more resources kings because empires are larger than kingdoms.
Options :

1. % of

2. ¥ than

3. % as

4. % for

Question Number : 65 Question Id : 7532291889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Emperors need more resources kings because empires are larger than kingdoms.
Options :

1. # of

2. ¥ than

3. % as

4. * for

Question Number : 66 Question Id : 7532291890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The higher faculty is a insight or intuition that us experience the ocean of Consciousness.
Options :

1. # deep, help

2. % deeply, helping

3. % deep, helps

4. # deeply, helps

Question Number : 66 Question Id : 7532291890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The higher faculty is a insight or intuition that us experience the ocean of Consciousness.
Options :

1. # deep, help

2. % deeply, helping

3. % deep, helps

4. % deeply, helps



Question Number : 67 Question Id : 7532291891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Baroque temple by the Scottish architect
Options :

1. ¥ designed

2. % conducted

3. ® rewarded

4. % crowded

Question Number : 67 Question Id : 7532291891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Baroque temple by the Scottish architect
Options :

1. ¥ designed

2. % conducted

3. * rewarded

4. % crowded

Question Number : 68 Question Id : 7532291892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Jeff is an excellent dancer

P. who always tries new dance steps
Q. while the rest of the class struggles
R. that are demonstrated

S. and masters them quickly

S6. to move their bodies on the tunes.

Options :



1. ¥ RPQS
2. % SQPR
3. # QRPS
4.+ PRSQ

Question Number : 68 Question Id : 7532291892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, there are six sentences marked S1, S6, P, Q, R, and S. The positions of S1 and S6 are fixed. You are required to choose
one of the four alternatives which would be the most logical sequence of the sentence in the passage.

S1. Jeff is an excellent dancer

P. who always tries new dance steps
Q. while the rest of the class struggles
R. that are demonstrated

S. and masters them quickly

S6. to move their bodies on the tunes.

Options :

1. # RPQS
2. % SQPR
3. % QRPS
4. ¥ PRSQ

Question Number : 69 Question Id : 7532291893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Grim
Options :

1. # Cheerful
2. ¥ Gloomy
3. % Bluff

4. # Peevish



Question Number : 69 Question Id : 7532291893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym for the given word.

Grim
Options :

1. # Cheerful
2. ¥ Gloomy
3. % Bluff

4. # Peevish

Question Number : 70 Question Id : 7532291894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Grumble
Options :

1. % Complain
2. % Compliment
3. # Dangle

4. # Calamity

Question Number : 70 Question Id : 7532291894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym for the given word.

Grumble
Options :

1. # Complain



2. % Compliment
3. % Dangle
4. # Calamity

Question Number : 71 Question Id : 7532291895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. # Pageant

2. % Pamphlet

3. % Persevere

4. ¥ Potraite

Question Number : 71 Question Id : 7532291895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the INCORRECTLY spelt word.
Options :

1. ¥ Pageant

2. % Pamphlet

3. % Persevere

4. ¥ Potraite

Question Number : 72 Question Id : 7532291896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Administratur

2. # Administrater

3. % Administrator



4. % Aministretor

Question Number : 72 Question Id : 7532291896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the CORRECTLY spelt word.
Options :

1. # Administratur

2. # Administrater

3. % Administrator

4. % Aministretor

Question Number : 73 Question Id : 7532291897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Once in a blue moon.
Options :

1. # Occasionally
2. ¥ Very rarely

3. % Frequently

4. # Incessantly

Question Number : 73 Question Id : 7532291897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

Once 1n a blue moon.
Options :
1. # Occasionally

2. % Very rarely



3. % Frequently

4. # Incessantly

Question Number : 74 Question Id : 7532291898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

An eye opener

Options :

1. ¥ A shocking revelation
2. % A small opening

3. % A difficult task

4. % A tough decision

Question Number : 74 Question Id : 7532291898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the four given options, select the one which best expresses the meaning of the idiom/phrase.

An eye opener

Options :

1. ¥ A shocking revelation
2. % A small opening

3. % A difficult task

4. % A tough decision

Question Number : 75 Question Id : 7532291899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Open refusal to obey orders.



Options :

1. # Obedience
2. # Adherence
3. % Defiance

4. ¥ Compliance

Question Number : 75 Question Id : 7532291899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the following group of the words.

Open refusal to obey orders.
Options :

1. # Obedience

2. % Adherence

3. % Defiance

4. # Compliance

Sub-Section Number : 2
Sub-Section Id : 753229125
Question Shuffling Allowed : Yes

Question Id : 7532291900 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven decades, gaining recognition for his performances in film,
television and theatre. He made his Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de Bergerac in Cyrano
(1974), lago in Othello, as well as playing the titular roles in Hamlet at Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer
performed in stage productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in Toronto, Ontario, and grew up in
Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first starring role that same year in Wind Across the
Everglades and won great acclaim for his performance as Captain Georg von Trapp in the musical film The Sound of Music (1965) alongside
Julie Andrews. Plummer played numerous major historical figures, including Commodus in The Fall of the Roman Empire (1964), Arthur



Wellesley, 1st Duke of Wellington in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in The Insider
(1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm II in The Exception (2016), and J. Paul Getty in All the
Money in the World (2017). Other films including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime Emmy Awards, two Tony Awards, a Golden Globe
Award, a Screen Actors Guild Award, and a British Academy Film Award. He is one of the few performers to have received the Triple Crown of
Acting, and the only Canadian. He won the Academy Award for Best Supporting Actor at the age of 82 for Beginners (2010), becoming the
oldest person to win an acting award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021), and he received a
nomination at the age of 88 for All the Money in the World, making him the oldest person to be nominated in an acting category.

Sub questions

Question Number : 76 Question Id : 7532291901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. % Plummer won a Screen Actors Guild Award.

2. % Plummer won a Golden Globe Award.

3. # Plummer won the Academy Award for Best Supporting Actor at the age of 82.

4. ¥ Plummer never won the Triple Crown of Acting.

Question Number : 77 Question Id : 7532291902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the character Arthur Wellesley belongs to?
Options :

1. ¥ Waterloo

2. % The Exception

3. # The New World

4. ¥ A Beautiful Mind

Question Number : 78 Question Id : 7532291903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Arthur Plummer was born in Canada but he grew up in -
Options :

1. ¥ Mongolia

2. ¥ Quebec

3. # Toronto

4. % Hong Kong

Question Number : 79 Question Id : 7532291904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Arthur Plummer played many historical characters. In which movie he played the role of Commodus?
Options :

1. ¥ The Fall of the Roman Empire.

2. % The Man Who Would Be King.

3. # The Insider.

4. % All the Money in the World.

Question Number : 80 Question Id : 7532291905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arthur Christopher Orme Plummer was a person whose career spanned -
Options :

1. # Five decades.

2. % Seven decades.

3. # Six decades.

4. % Four decades.

Question Id : 7532291900 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions below.

Arthur Christopher Orme Plummer was a Canadian actor. His career spanned seven decades, gaining recognition for his performances in film,



television and theatre. He made his Broadway debut in 1954 and continued to act in leading roles on stage playing Cyrano de Bergerac in Cyrano
(1974), Iago in Othello, as well as playing the titular roles in Hamlet at Elsinore (1964), Macbeth, King Lear, and Barrymore. Plummer
performed in stage productions, including J.B., No Man's Land and Inherit the Wind. Plummer was born in Toronto, Ontario, and grew up in
Senneville, Quebec.

After appearing on stage, he made his film debut in Stage Struck (1958), landed his first starring role that same year in Wind Across the
Everglades and won great acclaim for his performance as Captain Georg von Trapp in the musical film The Sound of Music (1965) alongside
Julie Andrews. Plummer played numerous major historical figures, including Commodus in The Fall of the Roman Empire (1964), Arthur
Wellesley, 1st Duke of Wellington in Waterloo (1970), Rudyard Kipling in The Man Who Would Be King (1975), Mike Wallace in The Insider
(1999), Leo Tolstoy in The Last Station (2009), Inside Man (2006), Kaiser Wilhelm II in The Exception (2016), and J. Paul Getty in All the
Money in the World (2017). Other films including Malcolm X (1992), A Beautiful Mind (2001), The New World (2005), The Girl with the
Dragon Tattoo (2011), and Knives Out (2019).

Plummer received various awards for his work, including an Academy Award, two Primetime Emmy Awards, two Tony Awards, a Golden Globe
Award, a Screen Actors Guild Award, and a British Academy Film Award. He is one of the few performers to have received the Triple Crown of
Acting, and the only Canadian. He won the Academy Award for Best Supporting Actor at the age of 82 for Beginners (2010), becoming the
oldest person to win an acting award (a distinction he held until being supplanted by 83-year-old Anthony Hopkins in 2021), and he received a
nomination at the age of 88 for All the Money in the World, making him the oldest person to be nominated in an acting category.

Sub questions

Question Number : 76 Question Id : 7532291901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?
Options :

1. % Plummer won a Screen Actors Guild Award.

2. % Plummer won a Golden Globe Award.

3. # Plummer won the Academy Award for Best Supporting Actor at the age of 82.

4. ¥ Plummer never won the Triple Crown of Acting.

Question Number : 77 Question Id : 7532291902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, the character Arthur Wellesley belongs to?
Options :

1. ¥ Waterloo



2. # The Exception
3. ® The New World
4. % A Beautiful Mind

Question Number : 78 Question Id : 7532291903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arthur Plummer was born in Canada but he grew up in -
Options :

1. # Mongolia

2. ¥ Quebec

3. % Toronto

4. ¥ Hong Kong

Question Number : 79 Question Id : 7532291904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mr. Arthur Plummer played many historical characters. In which movie he played the role of Commodus?
Options :

1. ¥ The Fall of the Roman Empire.

2. % The Man Who Would Be King.

3. # The Insider.

4. % All the Money in the World.

Question Number : 80 Question Id : 7532291905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arthur Christopher Orme Plummer was a person whose career spanned -
Options :

1. # Five decades.

2. ¥ Seven decades.

3. % Six decades.

4. % Four decades.
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Question Number : 81 Question Id : 7532291906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fffied o 9 "iRg®e & H1H-91 90N 82

Options :




1. % HHYRY JA™
2. % gg gAN

3. ¢ IgSY TN
4. % g ATy

Question Number : 81 Question Id : 7532291906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frEfaRad § 4 fiRg®e § SH-91 90N 82
Options :

1. % HUYRY JANY

2. % GG qA™

3. ¢ d¥Y JHNY

4. % fg1 9ur™y

Question Number : 82 Question Id : 7532291907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR H ¥ dhad <o &1 I0 Pifoil-
Options :

1.¥dd

2. % FRBT

3. % gt

4. ® JU[h

Question Number : 82 Question Id : 7532291907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fffed o T dagd Wsg &1 98- IfoTe-

Options :

1. =d




2. % PN

3. % IH
4. % UG

Question Number : 83 Question Id : 7532291908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFAfRId & O 19-9T Xoa Y BT TN R §11 71 62

Options :
1. # AHYhRI
2. ¢ JSIgdHL
3. # URIHTTAT
4. % fagw

Question Number : 83 Question Id : 7532291908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIRd o 9§ HH-91 Xeg Td &1 T R §191 747 82
Options :

1. % JYFHAR

2. ¢ JSIgdHL

3. % RGPS

4. % facw

Question Number : 84 Question Id : 7532291909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & @ H1H-91 Weg GoaTds I3 et BT I&6UT 67
Options :

1. % G

2. % P




3.« gl
4. % geRIge

Question Number : 84 Question Id : 7532291909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & & $1H-91 Xeg SoHaTde I3 Xeg HT SGTERUT 67
Options :

1. % 1

2. % Pl

3. ¥ Qg

4. % YRTgc

Question Number : 85 Question Id : 7532291910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmfafed o 9 e &1 yafgarh s HiF-a1 18t 82
Options :

1. ¢ fafern

2. % A

3. % YNTQR

4. % SHEEAT

Question Number : 85 Question Id : 7532291910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafed § Q3R &1 yafgareh Weg ®1F-91 T8l 82
Options :

1. ¢ fofer

2. % A

3. % YNTR



4. %SG

Question Number : 86 Question Id : 7532291911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad o 9 wree-gm & T8t 312 &1 997 BIfore-

q1d - 91d
Options :

1. % -4l

2. % Y -Dig
3. ¢ 91 - STcaid
4. % PIeAT-Gld

Question Number : 86 Question Id : 7532291911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmferRad & O Weg-gm o e 31d-1g &1 99+ B

dld - did
Options :

1. % gg-9

2. % qH-BG
3. ¥ 91 - dTaaid
4. % PIeT - G1d

Question Number : 87 Question Id : 7532291912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefafed # 9 e &1 fadid 2ea SIF-91 5
Options :

1. # odl



2. ¢ B
3. % g
4. % fqeaNg

Question Number : 87 Question Id : 7532291912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freffed § @ e &1 fad| Teg H1H-A1 82
Options :

1. % hdl

2.9 8

3. % e

4. % fqzarg

Question Number : 88 Question Id : 7532291913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T TR & foTT Ueh X b1 T BT

fqarfed il ¥ ST~ g

Options :

1. % foacil
2. % Jad

3. ¢ 3R

4. % JHHIJd

Question Number : 88 Question Id : 7532291913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T TTQ aTeRIieT o foTT U Req T =TT HITTT-

faarfad Tt ¥ Sa~1 g



Options :

1. % foacil
2. % Jad

3. ¢ 3R

4. % JHHIJdA

Question Number : 89 Question Id : 7532291914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R feT TN AT ® g BRes 1 faufad o1 waeT fobar g2

3 AS I WA TG B |
Options :

1. % PRI HRD

2. ¢ GEIYT HRB

3. # 3UIqlH dRP

4. * JEIGH PRD

Question Number : 89 Question Id : 7532291914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 feu T a1 © ford R Pt fauiaa o1 v fovar mar g2
3 ASHN [T 9 BRI |

Options :

1. % PV DPRDP
2. ¢ YT RSB
3. % UGl PRD
4. % JHIGIH HRh

Question Number : 90 Question Id : 7532291915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Frfafed & 3 WifeT 2rea &1 98 Sifoe-
Options :

1. % fagH

2. % 3H

3. % TRq

4. FI

Question Number : 90 Question Id : 7532291915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffeRad # 9 wifeln Wree &1 99 HifeTe-
Options :

1. * fagr

2. % 3MH

3. % TRq

4. Xl

Question Number : 91 Question Id : 7532291916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad © ¥ IR 919 &1 994 BHIfoTe-

Options :

1. % 31 ¥am & MUt THWT o1 82

2. % JCHAR A TS DI AR ITAT 3R W ST & 7147
3. I TAd BT HIb T HHMAT|

4. % S Afad gfGHM § 98 fhat I TSI ! dxal g

Question Number : 91 Question Id : 7532291916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



=R O @ SR 9T &1 Ig- Piford-

Options :

1. % 31T Fa o MU o 157

2. % JNHHR A TS DI AR STAT 3R WG ST & T
3. ¢ I TTAd I HRh STAR HHRT

4. % S Afad §fGHM § 98 fdt J 1T 8! axa g

Question Number : 92 Question Id : 7532291917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfRad fasbed! o 9 31-91 ITRT HigdTd &1 Jgl 3&TeRUl 67

Options :

1. ¢ A1 Y 937 Tal S|

2. % T ¢ gl Febdl|
3. % YW@ e A g

4. % 4 g TXY W -Tg] UPhd |

Question Number : 92 Question Id : 7532291917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A el # 9 o1-91 919 HIgdT=d &1 et 3180 82

Options :

1. ¢ T ¥ 567 781 S|
2. % il ¢ T Fepdil |
3. % YW B! A g

4. ® JYUg TYY ¢ -l Yhd |

Question Number : 93 Question Id : 7532291918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR o & qeTerT "aret fadl H der &1 a1 31 82
Options :

1. % Sea! AR dTell|

2. % TN Hd el

3. ¢ (S g

4, % Y7 U P! a1 H ge1

Question Number : 93 Question Id : 7532291918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaied & 9 gererT varet St § ser &1 o g2
Options :

1. % Sed] A aral|

2. % TR Hd el

3. ¢ 3 T

4. % ¢ JUg &I Kdr & gsT|

Question Number : 94 Question Id : 7532291919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafaa & @ PF-a1 Aeifad &1 vafia/ag U g2
Options :

1. % S WR A e foars 98 R AR 0415 |

2. % S R A Pe f9ars 9l 1 o UR T813|

3. % S R 7 9¢ foars a8 71 IH IR W5 |

4. S R A e fyaTs 98 F1T 9 UR WIS |

Question Number : 94 Question Id : 7532291919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAefafaa o 3 SH-a1 Aieifad &1 vaferd/ a8t U 82
Options :

1. % Wb IR 9 e f9a1s 98 o1 oF =R US|

2. % S W A Pe faars af .1 o UR T815|

3. % S W 9 e fJars a8 1 I TR WIS |

4. ¢ SIh IR 9 e f9aTs 98 T o1 TR WS |

Question Number : 95 Question Id : 7532291920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfeiad @ 9 forg gt § dieies fag &1 w81 fan man g2

Options :

1. % g0 Ut I ATd1-Ud1 1 YaT 3a=xg -1 AUl

2. ¢ "GP Afd &I Il TS | UT07 S TR a7 Sffg 11"

3. % SIHIR T B - I G ST TC; fooTel aHG Tll; FTad TR Tl 3R aN Bi g ¢4 - U Rl IR TRA @ |
4. ® HUY-HH, GI]-9-ST1a|

Question Number : 95 Question Id : 7532291920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=feriRed & 9 fy area & aivie fos &1 wanT et forar mar g2

Options :

1. % g4 Ut B ATc1-Ud & YaT 3/a=vg -1 ANyl

2. ¢ "YHA Tl TaT Teh TS | UTOT ST IR a1 - oI |1

3. % 3B H BT - HIA FTed BT Y fIoiel aHSG Tt STed TReM @l 3R a1 &1 §¢ € - €0 Rl W R 7|

4. % HUY-HY, Iel-Y-S1a] |

Sub-Section Number : 2
Sub-Section Id : 753229127
Question Shuffling Allowed : Yes

Question Id : 7532291921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (96 to 100)

FfIREd TR &1 AT gd e ST HR U=AT & IR GHoTd-

= dR 30 O & SR T A &1 el & ot afy 3d § | IRa1 ot sifiaufad &8 IR 9 gl 8, Fil d81-mRA 9, G e[ §, i g

JAAR & ATHA SferaM &3 4 8l |, ) HH Siia & g ded 3R T B! aarl H §g oik o7 favad 81 9k 81 97Td & | IRal U JHR

&1 3id: IRUM ¢ O1d 4} 3P fabTH goil aH! Teh e, Teh T, Teh I5R HIR H B 75 | dIRall gHRN FRIeH 3R 73 Bl 8| dRY &l &

& HREM S 810 | 3 A SIGR & gef BT Hifal Shaet Tt a1 & w7 U1 81 § 3IR 1 ot & ot fow, fam faneft & g e s §

;m%gga?m\l 3R YT Pt I R Tal W TS 8l T3 | JeR ! IdE BISHR Sildd & 3fex &1 del § Ugd a9 -4 31 Raaa|«
Eal |

Sub questions

Question Number : 96 Question Id : 7532291922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S T & 9] Y o b gar F Hifd Bl T 72
Options :

1. % qdgs & géil

2. % S ® gy

3. ¥ GdER & g4

4. % UiOd o &

Question Number : 97 Question Id : 7532291923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & TR, IRl U THR B 3id: IROM ¢ ofd vt ST fawragenaft | TORASI TR
Options :

|. % Th D

2. % TH T

3. % Udh dglR

4. ¥ TS P, Th T, Th TER

Question Number : 98 Question Id : 7532291924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SUad TR & SR, dRdl Bt sifiaafad - & @ frg TR A gieil 8 2
Options :

1. % FS1-RA Y

2. % GATEH Y

3. % A0 dAdR & IHA SieaM H3A 9

4. ¢ H TSH-TRA ¥, A 98 9, A1 AU TaIR & I Ffeieq & 9 gl 7

Question Number : 99 Question Id : 7532291925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYHT TR & AR, 7 & SH-91 H4H I 7ol 7

Options :

1. % R gaRn PRIl 8k 78 g1 5

2. % R Sita- T a1 & WY YT 81a & 3R fom it & urht o, far fopeht & qu e sga B
3. ¢ AR & §M & HREH Bl 5 |

4. % Fod dR 30 UH & SR Y AT &1 ol & e 91y < &

Question Number : 100 Question Id : 7532291926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUYe eI BT Faifie 3ferd e e # 4 PH-ar g2
Options :

|. % ¢dGR & & Td dRR|

2. % IRl BT GERUI

3. % RI &1 ¢-UH|

4.« Fdl IR

Question Id : 7532291921 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



=TT TRIT1 FT AT ga® ST B URAT B IR Glord-

T IR 30 UH & OIR J AN b1 JaT & forg sy 3 § 1 Rl bt 31fireafad o3 UpR J gicit 8, FHl de1-IRA §, G 98 §, Y d

JAAR & ATHA SfeIGM &3 4 8l |, ) HH Siia & g ded 3R T 1 aarel H §g ok o7 favad 81 9k 81 97Td & | IRl U JHR

@1 3fd: TN § 9 Hoft 3T fawmr gait auft U I, U W1, Ueh 98R YOR | ©1 173 | IRar gH= FARTel iR 718 gidt g1 IRi &t 9

& HREM 5! 6 | d A GAGR & & BT Hifd Shad Ul a1 & W4 UaT gid § 3R fomn ot & urit 3w, fomr fopeht & g fUemu sigd 5

qmﬁjga%ﬂ PRI 3R T B! I W Tedl J W 8l STl | STER Pt Jdg BISHR olia- & e &1 dgl § Ugd de 7 7 Rl |«
G2l |

Sub questions

Question Number : 96 Question Id : 7532291922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & 9%} ) o b gar F Hifd Bl T 72
Options :

1. % UqS & 34|

2. % S % gy

3. ¥ GIGR & &

4. % Mlua & &

Question Number : 97 Question Id : 7532291923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUdad TR & TR, TR T YHR B 3fd: IROM g 9d Hft ST@bT faprrgenalt TR ABITS)
Options :

1. % Uh b

2. % TH AT

3. % Ub dgRR

4. ¥ TH D, Th TM, T TER

Question Number : 98 Question Id : 7532291924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U T & TR, IR B! SHfedfad = 4 ¥ fea R A gl g 2
Options :

. % 98-

2. % GATEH Y

3. % dIU dddR & ¥ dfcigH &34 4

4.« HW TSARA ¥, A 961 9, A1 AT TaaIR & i dfeie B 9 gial g

Question Number : 99 Question Id : 7532291925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUGeR TN & AR, 1 H  BIH-H1 Y I el 82

Options :

1. % diRaT g FRTeh ofR 7 B 71

2. % 4R it S0 7 & WY UaT 810 & 3R o et & urht fe, fam fopeht & qu e s §1
3. ¢ 4RI B §M & HREH BId 5

4. % T AR S0 UH & IR I AN b1 T b forg sy &d |

Question Number : 100 Question Id : 7532291926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suded TR T Faifde Ifd e FEA A Y eF-are?
Options :

|. % ¢dGR b & Td |

2. % Rl BT YR

3. % dRI &1 ¢=-UH|

4.« Gl IR

Disciplinel
Group Number : 6
Group Id : 753229105



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 753229105

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229128

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532291927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the law/s of reflection in case of a light ray reflected by a smooth surface?

1. The angle of incidence is equal to the angle of reflection
2. The incident ray and the reflected ray are not co-planar
3. The incident ray, the reflected ray and the normal to the reflecting surface at the point of incidence are co-planar

Options :
1. # 1 only
2. % 1 and 2 only



3.4 1 and 3 only
4. # 3 only

Question Number : 101 Question Id : 7532291927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U It 9dg gRI Wiafdd Ut foevur & Ama & FafalRad 7 9 &9 913 wRiad o1 a9 g/82

1. 3T DIV, TRTA 10T &b SRTSR Biell
2. 3Tuferd T 3R WRafdd febRur ge el et &
3. 3fTUfad farr, TRafedd fahRor iR WRIad® Tag & 3muaH-fag W Hfidd Tg-dad §

Options :

1. % &Had 1

2. % Had 1 3R 2
3.9 Had | 3R 3
4. % $Had 3

Question Number : 102 Question Id : 7532291928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sun radiates about  joule of energy every second.
Options :

1. % 3.92x10%8

2.¥3.92x10%

3. % 3,92 x10%

4. % 3,92 x10°

Question Number : 102 Question Id : 7532291928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T THUs T AU S Soll o fafehRur HraT ]

Options :



1. % 3.92 x 1028
2.¥ 392 x 10%
3. % 392 %1030
4. % 392 x 1032

Question Number : 103 Question Id : 7532291929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following represents the critical angle of a medium(©,.), for light going from the medium to the air? (Given py, =1 and p; = p)

Options :

1 % B: =sinlp
7« B: =sint (1/p)
3 0: =cos (1/n)
4 ® 6: =sin (1/p)

Question Number : 103 Question Id : 7532291929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & T HF ATend ¥ ga1 H O aTal UHTR1 o fo1T 3 AIETH & Hifdd HIvT (0,) BT U1 Hral 82 (RAT T8 py = 1 3R py = p)
Options :

1. % B =sinlp

2.« 6 =sint (1/p)
3 ® 6c =cost (1/p
4 % ©c =sin (1/p)



Question Number : 104 Question Id : 7532291930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An optical fibre is a very thin fibre made of

1. Glass
2. Copper
3. Plastic

Options :

1. % 1 only

2. % 1and?2 only
3.% ],2and 3

4. % 1 and 3 only

Question Number : 104 Question Id : 7532291930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HPHd BISR Y 91 U 9gd 8! Uadl BIReR g |

1. T
2. BIR
3. WIReH

Options :

1. % $ad 1|

2. % Had 1 3R 2
3. % 1,233

4. ¢ Had 1 3R 3

Question Number : 105 Question Id : 7532291931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SI unit of power of lens is:
Options :

l. ®* m

2.¢ m!

3. % m2

4. % m3

Question Number : 105 Question Id : 7532291931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
<G P &I T TH. TS, TS B:
Options :

l. * m

2.¢ m!

3. % m2

4, % mq3

Question Number : 106 Question Id : 7532291932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The curvature of the lens of an eye is altered by
Options :

1. #* Cornea

2. % Retina

3. % Ciliary muscle

4. % Vitreous humour

Question Number : 106 Question Id : 7532291932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 3@ & 9 BT aehell EINECSEARSIRI



Options :

1. ® W HsdA
(PIfFam)

2. % gf¥ucd

3. ¢ GeATH Uik
4. % PIYH gd

Question Number : 107 Question Id : 7532291933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A wave of wavelength 0.50 cm is produced in air and it travels at a speed of 250 ms™. What will be the frequency of the sound?
Options :

1. % 40,000 Hz

2. % 50,000 Hz

3. # 60,000 Hz

4. % 70,000 Hz

Question Number : 107 Question Id : 7532291933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.50 It T Sef Y AT g a1 W IO Bl § 3R TG 250 ms~! BT A J AT HRA 1 eaf B gy @ gt
Options :

1. # 40,000 Hz

2. % 50,000 Hz

3. % 60,000 Hz

4. % 70,000 Hz

Question Number : 108 Question Id : 7532291934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The waves with the frequency below the audible range are called —



Options :

1. ¥ Infrasonic waves

2. # Ultrasonic waves

3. % Hypersonic waves

4. ¥ Supersonic waves

Question Number : 108 Question Id : 7532291934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
4o TR W HH g arell ol peelr 8-
Options :

1. ¢ SIS TR

2. ¥ 3fecNIF® al

3. % GIEURANTD a

4. % UMD qH]

Question Number : 109 Question Id : 7532291935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who of the following devised barometer?
Options :

1. # Archimedes

2. ¥ Torricelli

3. % Bernoulli

4. % Pascal

Question Number : 109 Question Id : 7532291935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & 3 fea sRiHeR s

Options :



1. % INfHAS
2. ¢ aiffar
3. % gia

4. % URSGA

Question Number : 110 Question Id : 7532291936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true?

1. The intermolecular forces are less in liquids in comparison to solids.
2. The shape of liquid can easily be changed.

3. The volume of a given mass of liquid can easily be changed.

4. The volume of a given mass of liquid is not so easy to change.

Options :

1. ¥ Only I and 2
2. % Only 1,2 and 3
3. Only 1,2 and 4
4. % Only 1 and 4

Question Number : 110 Question Id : 7532291936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & T o I/ $UT I 8/8°

1. %al § SfRTSMUa® §d 311 &1 ga-1 & A BId g |

2. %d BT HHR MM IV deal ofl FhdI 5|

3. fpat fou 70 g9 & gomT= T SMd ST & gel o Ibal g |
4. Tt foU U 59 & GoaHH BT 3T ISl 3T 3 781 B
Options :

|. % Pad 1 3R 2
2. % Had 1,2 3R 3
3. ¢ Had 1,2 3R 4




4. % PHad | 3R 4

Question Number : 111 Question Id : 7532291937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following law/principle has/have been applied to form the principle of hydraulic lift used to raise heavy loads?
Options :

1. % Newton’s third law of motion

2. % Pascal’s law

3. % Archimedes Principle

4. ¥ Both Pascal’s law and Archimedes Principle

Question Number : 111 Question Id : 7532291937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & ¥ o 1 Br/Rigid YR UR I3M & 1T IuanT {6 oM ard grgsifer fote & Rigid & a1 3 forg om] fan S 22

Options :

1. % g i A BT T a9

2. ¢ URGd BT BT

3. % Ifhire Rigid

4. % TR P DI IR GRS Rigia gl

Question Number : 112 Question Id : 7532291938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is/are true?

1. If a body does not change its position as time passes it is at rest.
2. There is no meaning of rest or motion without the viewer.
Choose the correct code.

Options :
1. # Only 1



2. % Only 2
3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 112 Question Id : 7532291938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFgfefead & ¥ o I/ $YT a9 8/8?

1. afe o3 fis gHg Siam & I1Y 3o fRUfS T8 sead § d a8 SRm &) R A glar g |
2. <% & fomr fagm ar fa 1 1S Srf AT B

el pls |

Options :

1. % %ad |

2. % Had 2

3. G 3R 2

4. % FdAN1 3R 2

Question Number : 113 Question Id : 7532291939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dimension of speed is-

Options :

1.¢ L1

2. % L172

3. % LT

4. % 173

Question Number : 113 Question Id : 7532291939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T BT ST B-



Options :
1. ¥ LT!
2. % T2
3.% LT

4. % LT3

Question Number : 114 Question Id : 7532291940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For an object moving along a straight line without changing its direction the-
Options :

1. # distance travelled > displacement

2. # distance travelled < displacement

3. ¥ distance travelled = displacement

4. ® distance is not zero but displacement is zero

Question Number : 114 Question Id : 7532291940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farmT fa=m Seer IRe a1 R ifoRitel U 9 & fere-
Options :

1. % 9 I T G11 > fawimo

2. % T DI T G < fa=ITuA

3. ¥ 09 B T QI = faRIo

4. % YT T ¢ A oA I 8

Question Number : 115 Question Id : 7532291941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A rifle having a mass of 8 kg fires a bullet at a speed of 300 ms™!. If the rifle recoil with a velocity of 1.5 ms™! then find the mass of the bullet.
Options :



1. % 25¢g
2.%30¢g
3.%35¢g
4. ¥ 40 ¢

Question Number : 115 Question Id : 7532291941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP S BT GO 8 kg 8| STY TH Teit gFT 718 FoIes! 1 300 ms™! §1 TS I S BT UFA&T O 1.5 ms~! & A1 Tl 6T Goqd@= J1d
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Options :
l1.* 25¢g
2.%30¢g
3.%35¢g
4. ¥ 40 ¢

Question Number : 116 Question Id : 7532291942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A current of 1.0 A is drawn by a filament of an electric bulb for 4th part of an hour. Find the amount of electric charge that flows through the
circuit.

Options :

1. * 720 C
2. % 810C
3.4900C
4. % 960 C

Question Number : 116 Question Id : 7532291942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T §cd & fhadic 9 TP °e & A1 feT & SRIaR 90T & 1.0 A DT 4RI ! YaTled foa 71| GRUY § gg-aTdl faggd S1a= &1 0T
Gl



Options :

1. % 720C
2. % 810C
3.4900C
4, % 960 C

Question Number : 117 Question Id : 7532291943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much time will take a 4 kKW immersion rod to raise
the temperature of 1 litre of water from 30°C to 60°C.
(Talee Specific heat of water c = 4.18 = 102 J kgt °C-Y)

Options :

1. % 62.7s
2. % 45255
3.¥ 31355
4. % 26.71s

Question Number : 117 Question Id : 7532291943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 4 kW &I e FSHH-0S ¢ail U oilcd U=l & did & 30°C
¥ 60°C o o #H S dlel AT & 0T HifT|

=T Fr fafese IWAT ¢ =4.18 = 108 J kgt °C-4

Options :

1. % 62.7s

2. % 4525

3.9 31355

4, % 26.71s

Question Number : 118 Question Id : 7532291944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If we hang a bar-magnet with a string, it will always rest in the direction of-
Options :

1. # East-West

2. % West-South

3. % North-South

4. % North-East

Question Number : 118 Question Id : 7532291944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fhat GUS T ol UM I b IR g ford fa=m & gum il
Options :

1. % gg-uf3y

2. % UigH-gfam

3. ¢ GR-Gfaru

4. % IWR-d

Question Number : 119 Question Id : 7532291945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rules is used to determine the direction of force in the electric motor?
Options :

1. ¥ Fleming’s Left-Hand Rule

2. % Fleming’s Right-Hand Rule

3. #® Palmer’s Left-Hand Rule

4. # Palmer’s Right-Hand Rule

Question Number : 119 Question Id : 7532291945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagga Hiex ¥ 9a &1 fazm Fuifiva = & fo fafoied o 9 fora Fom o1 SuaiT feear Srar g2



Options :

1. ¢ TQIfHT & §TU 819 &1 (a9
2. % TRIfHT & QT4 81 &1 (a9
3. % UR o 914 1Y &1 199
4. % UM & QMU §1Y &1 M99

Question Number : 120 Question Id : 7532291946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. AC (Alternating Current) is transmitted from electricity generation centers to houses and industries through high voltage transformer (step up
transformers) at very high voltage.

2. Devices like electric motor that work on DC (Direct Current) are stronger than those that use AC.
3. DC of same voltage as AC is more dangerous because in DC direction of flow of current doesn’t change.
4. Major portion of AC flows through the upper portion of a wire.

Question Number : 120 Question Id : 7532291946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed & 9 &9 91 By TTerd 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.

Options :

1. TTad 4RI & faggd IdTe = 4 ORI Td SHefies Ufasmi # S SRR & Geradl ¥ 3o dlees! TR Joll o g |
2. om 4T T Iem a1at faggaHtex S I, TTad §RT aTdl Iwal & ga-T 8 Holgd 3R JaUTee gid §

3. JHM diccdl 1 fa¥ YRT, YTad! 4RT Y SHfd GaRAD it o




4. JATa! YRT BT BT YT IR Dt SHUI Idg TR Igdl o
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Question Number : 121 Question Id : 7532291947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following gases makes 75 percent of bio-gas?

Discipline2

7
753229106
0

0

No

No

0

20

No

Discipline2

753229106
1

Online
Mandatory
20

20

20

Yes

1
753229129
Yes



Options :

1. ¥ Ammonia
2. # Urea

3. % Methane
4. ¥ Butane

Question Number : 121 Question Id : 7532291947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sa-T & 75 Uf=Id S 1 79 gl 82
Options :

1. % i

Question Number : 122 Question Id : 7532291948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countries is known as the country of the ‘winds’?
Options :

1. * France

2. % India

3. ¥ Denmark

4. # Germany

Question Number : 122 Question Id : 7532291948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfITEd & ¥ D19 <= BT UaGH! BT G0 Hel Al 572

Options :



1. % g
2. % YRG
3. SIS
4. % S

Question Number : 123 Question Id : 7532291949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is incorrect about biofuel?

1. It is an important fuel produced from leftover food products like vegetable oils and animal fats.

2. It can be made when large amounts of crops high in sugar or starch content are grown, and then fermented with yeast to produce ethyl alcohol
or ethanol.

Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. ¥ Neither 1 nor 2

Question Number : 123 Question Id : 7532291949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oid 3¢9 & SR § ufeiad & &1 91 HYF 7Tad 82

1. 9% T0ld ad 31 U] a9T oY 99 §U AT SdTa! § SdTed Uh Ag@yul $4 5|
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Tl pls |

Options :

1. % $Had |

2. % Had 2

3. % g1 3R 2




4.TDN1 ARG 2

Question Number : 124 Question Id : 7532291950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is emitted when hydrogen is burned?
Options :

1. # Carbon dioxide

2. % Methane

3. % Water-vapour

4. ¥ Both methane and water-vapour

Question Number : 124 Question Id : 7532291950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gISSIoH &I SaM IR Y & § D9 91 Ifoid g1l 82
Options :

1. % DIe SFHRITS

2. % i

3. ¥ Ol-dY

4. % T 3R Sel-ar g1

Question Number : 125 Question Id : 7532291951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following types of coal has the highest calorific value?
Options :

1. ¥ Anthracite

2. % Peat

3. # Lignite

4. % Sub-bituminous



Question Number : 125 Question Id : 7532291951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad & 3 f59 YR & SIgd &1 ST A I=dH gidl 82
Options :

1. ¢ WRRe

2. % Uic

3. % femmee

4. % Iu-fagitrg

Question Number : 126 Question Id : 7532291952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For generating wind energy, the wind speed should be higher than to maintain the required speed of the turbine.
Options :

1. ®* 5km/h

2. #® 8 km/h

3. % 15 km/h

4. % 10 km/h

Question Number : 126 Question Id : 7532291952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Sl 3Td B & [T, RIS DI SATaGSH A S AU ITH & fugarHiafd . i g1 T1feul
Options :

1. % 5 foeii/der

2. % g fodi/der

3. ¢ 15 fdi/ger

4. % 10 fopdit/der




Question Number : 127 Question Id : 7532291953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The commonly used unit of power, Horse-power is equal to-
Options :

1. % 440 W

2. % 760 W

3.¥% 746 W

4. % 842 W

Question Number : 127 Question Id : 7532291953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (UTaR) B! YT 0 I Ygad A, 81Y-UiaR fhdd sRIeR il 8-
Options :

1. % 440 W

2. % 760 W

3. ¥ 746 W

4. % 842 W

Question Number : 128 Question Id : 7532291954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following have a tendency to maintain their shape when subjected to outside force?
Options :

1. * Liquids

2. ¥ Solids

3. # QGases

4. % Aerosols

Question Number : 128 Question Id : 7532291954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 forad a6t 90 & 31eiH 811 TR 3{UAT STHR §1E @ B! Ugid gl 82
Options :

1. ® RATerd

2. v 3

3. % 79

4. % TR

Question Number : 129 Question Id : 7532291955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is true?

1. The rate of diffusion of liquids is higher than that of solids.
2. Gases are highly compressible as compared to solids and liquids.
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 129 Question Id : 7532291955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R & 4 S I ag 82
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Options :

1. % $ad |

2. % PHad 2



3. ¥ Gl 3R 2
4. % Fd11 3R 2

Question Number : 130 Question Id : 7532291956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Solid carbon dioxide is known as dry ice because:

1. It is stored under extreme low pressure to solidify it.
2. It gets converted directly to gaseous state on decrease of pressure to 1 atm without coming into liquid state.
Choose the correct code:

Options :

1. % Only 1

2.+ Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 130 Question Id : 7532291956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 BT SEHTRIZE B! [ T & & H ST o1l § b

1. 39 oA & fo Srcafiies i garg & Sufed fear S |
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Options :

1. % dd |

2. ¥ Hdd 2

3. % M1 3R 2

4. % A1 3RAE 2

Question Number : 131 Question Id : 7532291957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The plasma state of matter consists of :

Options :

1. ¥ Extremely energetic and excited form of ionised gases

2. % Extremely stable and uncharged neutrons of several gases

3. ® Extremely charged particles of gases under very low temperature

4. ® EBxtremely stable particles of a liquid and charged particles of a noble gas under extremely low temperature

Question Number : 131 Question Id : 7532291957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 I ST H 2

Options :

1. ¢ 3TAfAd T} &1 3fcdd SHoraM 3R IAfoTd =Y

2. % H3 T & 3fd RR 3R 3FTafRd geH

3. % §gd BY dIYHH W TG & AAfIw Mafrd &

4. % fAd HY IOHM IR Th IPT T & dRa R AR HUN & A FRR HT

Question Number : 132 Question Id : 7532291958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The melting point of ice is:

Options :

1. ¥ 23751 K

2. % 473.15K

3. % 373K

4.9 273.15K

Question Number : 132 Question Id : 7532291958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g0 BT TP o
Options :

1. ¥ 23751 K

2. % 473.15K

3. % 373K

4. ¥ 273.15K

Question Number : 133 Question Id : 7532291959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is known as the law of definite proportions as stated by Proust?

Options :

1. #® In a chemical substance the elements are always present in definite proportions by volume.
2. % In a chemical substance the elements are always present in definite proportions by heat.

3. ¥ In a chemical substance the elements are always present in definite proportions by mass.

4. ® In a chemical substance the elements are always present in definite proportions by density.

Question Number : 133 Question Id : 7532291959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSR & TR FUfaRad & ¥ frae! Afda srIurd &1 oy wg1 o 82
Options :

1. % fordit oft OiffTes o 9 Wea U TS smaaHl & srgurd # faem M gld § |
2. % Tl 1t OiffTe & @ 9¢d U Fd a0 & Surd & fagaM gid § |

3. ¢ Tl oft Oiffres o U v AT goomm & srqura B fagmH 81a § |
4. % Tl +ft 91 o 9@ I¢a Ue Mfd o9 & Sua & fae= g1 € |

Question Number : 134 Question Id : 7532291960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a postulate of Dalton’s atomic theory?
Options :



1. ® All matter is made of very tiny particles called atoms.
2. % Atoms of a given element are identical in mass and chemical properties.
3. ¥ Atoms combine in the ratio of small real numbers to form compounds.

4. ® The relative number and kinds of atoms are constant in a given compound.

Question Number : 134 Question Id : 7532291960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gt g Remgsti @ MHd gl g |
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Question Number : 135 Question Id : 7532291961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1961 for a universally accepted atomic mass unit, isotope was chosen as the standard reference for measuring atomic masses.
Options :

1. ¥ carbon-12

2. % hydrogen-2

3. ® oxygen-6

4. % carbon-1

Question Number : 135 Question Id : 7532291961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1961 H ORUTY] ST &1 T B o [T IRHTY] ST 3DT5 TR (SATSHICIY) BT AFG daH & 9 H Aot 99
TihR fordT 7T |

Options :



1. ¢ BIE-12
2. % GIEGIH-2
3. % 3fIGToH-6
4. % PHIE-1

Question Number : 136 Question Id : 7532291962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of atoms constituting a molecule is known as its:
Options :

1. # Atomic mass

2. % Atomicity

3. % Atomic number

4. % Atomic weight

Question Number : 136 Question Id : 7532291962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS U] &1 -1 aTel GRATU[ST &1 T B 3 U H ST STl 8
Options :

1. % UIH qIHIT

2. ¥ UHUhdT

3. % QAT I3

4, % TRHUGH HR

Question Number : 137 Question Id : 7532291963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Thomson’s model of an atom:

1. An atom consists of a positively charged sphere and the electrons are embedded in it.



2. The negative and positive charges are not always equal in magnitude. So, the atom as a whole is not always electrically neutral.
Choose the correct code:

Options :

1. ¥ Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 137 Question Id : 7532291963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT o TRATY] HlSd & SHIIR:
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Options :

1. ¥ $ad |

2. % $Had 2

3. % g1 8k 2

4.% 911 RIS 2

Question Number : 138 Question Id : 7532291964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

It was found that the Law of Octaves was applicable only upto
Options :

1. #* Nitrogen

2. % Magnesium

3. % Calcium

4. % Tron



Question Number : 138 Question Id : 7532291964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ¢ 1 b 3y I Rigiddbad I AN gIdl Tl
Options :

1. % 1S

2. % WHIR™H

3. ¥ Bie’rd

4. % 3O

Question Number : 139 Question Id : 7532291965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mendeleev’s Periodic Law states that:

Options :

1. ® The properties of elements are the periodic function of their atomic numbers.
2. % The properties of elements are the periodic function of their ions.

3. ¥ The properties of elements are the periodic function of their atomic masses.

4. ® The properties of elements are the periodic function of their atomicity.

Question Number : 139 Question Id : 7532291965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hedlta &1 3frad Aoy e g f&:

Options :

1. % Tl & T[0T 3 IRHTY] SHHIP & 3MTad b ald ¢ |
2. % Tcdl o 0T 3D SIS B ald & |

3. ¢ Tl & 10T 37 URHTY] STHH & 3fTad e gid & |
4. % qdl & T[0T 3Teb ! TRATU[GHT P 3HTad Ha 8ld &

Question Number : 140 Question Id : 7532291966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the atomic radius of hydrogen atom?
Options :

1. ¥ 37 pm

2. % 37 nm

3. % 47 mm

4. % 23 nm

Question Number : 140 Question Id : 7532291966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS SIS TRHTY] &1 Bieur . 82

Options :
1. ¥ 37 pm
2. % 37 nm
3. % 47 mm
4. % 23 nm
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Question Number : 141 Question Id : 7532291967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correctly balanced
equation for Fe + Hz0 — Fe;0s+ Ha?

Options :
| % Fe+ 4H20 — Fes04+ Ha

2. # 3Fe + H20 — Fes04+ Hz
3.  3Fe + 4H20 — Fe304+ 4H:2

4. ® 3Fe + 4Hz0 — Fez04+ H2

Question Number : 141 Question Id : 7532291967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fe + H20 — Fes04+ Hx & fow Teafaf@a
# & w7 |58 wafea g §2



Options :
1 % Fe + 4H:0 — Fes04+ H2

2. # 3Fe + H20 — Fes04+ H2
3.« 3Fe + 4H20 — Fe3z04+ 4H:z

4. 8 3Fe + 4Hz0 — Fesz04+ Ha2

Question Number : 142 Question Id : 7532291968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following reacts vigorously with water to produce slaked lime releasing a large amount of heat?
Options :

1. ¥ Calcium oxide

2. # Calcium

3. % Sulfuric Acid

4. % Calcium bromide

Question Number : 142 Question Id : 7532291968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ e o1a & WY <diadr ¥ e e g9 §U I BT AT e TS AE H S8 SUd BT 62
Options :

1. ¢ BRI oSS

2. % DRy

3. % egRe RIS

4. % PR SIS

Question Number : 143 Question Id : 7532291969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not an example of exothermic reaction?
Options :

1. # Burning of natural gas

2. # Decomposition of vegetable matter into compost

3. ® Respiration

4. % Ammonium chloride dissolves in water

Question Number : 143 Question Id : 7532291969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 3 S SeTaT sififohar 1 Iareru 78! 87
Options :

1. % UIHfAd I BT ST

2. % Teoll Ugrd o1 HHRe H 3ruged

3. % 4qq

4, ¢ ANH FARISS 61 T el ST

Question Number : 144 Question Id : 7532291970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Acid + Metal — Salt +
Which of the following is needed to complete the reaction above?

Options :

1. ¥ Hydrogen gas
2. ® Nitrogen gas
3. # Oxygen gas
4. ® Ozone gas

Question Number : 144 Question Id : 7532291970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



31'131’+$41§—>FI6|UT+

SRR T D1 QT A & forg Fraferad # J fpdrep! sagerd 82
Options :

1. ¢ BRSO T

2. % ECIoM 9

3. % SHiRfoH T4

4. % 3 T

Question Number : 145 Question Id : 7532291971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An alkali is a base which is -

Options :

1. % highly basic in pH

2. % soluble in water

3. % highly reactive

4. % never stable

Question Number : 145 Question Id : 7532291971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U &R I8 &R g oil-

Options :

1. % fieg ¥ e eRPITarszfa @
2.« O A gaeiia §

3. # 3P ufafraria g

4. % HNRRTE T

Question Number : 146 Question Id : 7532291972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is false?

Options :

1. ¥ Acidic nature of a substance is due to the formation of OH™ (aq) ions in solution

2. % Acidic solutions in water conduct electricity because they produce hydrogen ions.

3. # When a base reacts with a metal, the salt formed has a negative ion composed of the metal.

4. ® Water of crystallisation is the fixed number of water molecules present in one formula unit of a salt.

Question Number : 146 Question Id : 7532291972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3 & 91 7Ted 82

Options :

1. ¢ T uerd ot st Ui fadaa H OH (aq) 3! & &9 & HRUT BT §

2. % U T Sty O foroTelt &1 TeTa $Rd € adiis d T3gIe - Sdle HRd ¢ |

3. % T DIs &R, YT & 1Y NFHTT BT 8, A §94 arel F9H | U1 F &1 U HBUNHD ST gl 5|
4. % AU P Uh G IPI8 U oId o (YT SU[afi 1 T & fopvea &1 ol Fgd ol

Question Number : 147 Question Id : 7532291973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most ductile metal?
Options :

1. ¥ Gold

2. % Silver

3. % Platinum

4. #% Copper

Question Number : 147 Question Id : 7532291973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 o1 Tad Sified 0= o1d 87



Options :
1.« I
2. % Tidt
3. % wifed
4. % qial

Question Number : 148 Question Id : 7532291974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All metals except exist as solids at room temperature.
Options :

1. # Gallium

2. % Caesium

3. # Jodine

4. ¥ Mercury

Question Number : 148 Question Id : 7532291974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P BreHR O Ui HIR & dIEH R 3 & U H A[E gt g |
Options :

1. % fferm

2. % diforgH

3. % 3IISH

4, ¥ URT

Question Number : 149 Question Id : 7532291975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following general properties for ionic compounds is true?
Options :



1. # Jonic compounds are very flexible and never break easily when pressure is applied.
2. # Jonic compounds are easily soluble in solvents like kerosene and petrol.
3. # Jonic compounds conduct electricity in solid state.

4. ¥ Tonic compounds have higher melting and boiling points.

Question Number : 149 Question Id : 7532291975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3mafe Al & forg fFafafad § § S 91 9= 0 9 g2

Options :

1. % 3TIfe GiffTe §gd AdId 81d & SR Ga1d STeH TR T § 78! ged |

2. % 3TAfIE AT gt & A SR Uia o faamaes! o ST & ga-=id 81d g
3. % 3 AME 31 /a1 § faggd &1 Tare- vd ¢ |

4. ¢ MRS GNHI H I TP 3R HUAIH gid &8 |

Question Number : 150 Question Id : 7532291976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compounds of carbon, which are linked by only single bonds between the carbon atoms are called compounds.
Options :

1. ® Unsaturated

2. ¥ Saturated

3. # Neutral

4. ® Unstable

Question Number : 150 Question Id : 7532291976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIa AT & & Had U ey J S HIa & 1M % Head g |

Options :
1. % 3w



2. v ¥
3. % Aoy
4. % JRR

Question Number : 151 Question Id : 7532291977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The of elements is explained as their tendency to attain a completely filled outer shell.
Options :

1. % weight

2. ¥ reactivity

3. % pressure

4. % density

Question Number : 151 Question Id : 7532291977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T PR B I REY R GA P VIR F MR R AG B JHS ST g
Options :

1. # R

2. ¢ SffHihaTterdT

3. % qld

4, % Ydd

Question Number : 152 Question Id : 7532291978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Acetic acid (CH3COOH) has a melting point of:
Options :

1. ¥ 290 K

2. % 209K



3. ¥ 156K
4. % 90K

Question Number : 152 Question Id : 7532291978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRifes RIS (CH,COOH) &1 TTeie Bl 7
Options :

1. ¥ 290 K

2. % 209K

3. % 156K

4. % 90K

Question Number : 153 Question Id : 7532291979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following products consists of a mixture of potassium chlorate and antimony trisulphide bound together by glue?
Options :

1. # Soaps

2. # Detergents

3. % Matchstick heads

4. ¥ Candles

Question Number : 153 Question Id : 7532291979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifea 7 3 frg Iare § e I 99 teRrH Fiike 3R TEH CrRachgs BT Yo giar g2
Options :

1. % 4ig-

2. % fgasle

3. ¢ Hif< g B diefl



4. % HHe

Question Number : 154 Question Id : 7532291980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is also known as Crooke’s glass?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Borosilicate glass

2. Flint or optical glass

3. Fibre glass
4. Hard glass

Question Number : 154 Question Id : 7532291980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford o 7o o =13 & off ST ST 82
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. IRIRYferehe Ty

2. fode a1 3fifpea e

3. ThIQeR i1

4. TS T

Question Number : 155 Question Id : 7532291981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following products is available from Hevea brasiliensis?
Options :

1. ¥ Natural rubber

2. % Nylon

3. # Rayon

4. % PET

Question Number : 155 Question Id : 7532291981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea & § oF 1 Iare gfaar siifeuRrg @ Iuas 82

Options :

|. ¢ UTipidd I6S

3%3%&1?
4. % WIEA

Question Number : 156 Question Id : 7532291982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Outer solid crust of earth is known as-
Options :

1. # Hydrosphere

2. % Lithosphere

3. % Stratosphere

4. ¥ Mesosphere

Question Number : 156 Question Id : 7532291982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2t Bl ST8d 31 TR Y 8-

Options :



1. ® §d-H8d
2. ¥ RAHSd
3. % gOdgHsd
4, % gEHSd

Question Number : 157 Question Id : 7532291983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Scurvy is caused due to deficiency of:
Options :

1. # Vitamin A

2. # Vitamin B

3. % Vitamin C

4. # Vitamin D

Question Number : 157 Question Id : 7532291983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wl [ gep! HHI &b BRI BIdl 52
Options :

1. ® faerfeq A

2. # faerfim B

3. ¢ fqerfem ¢

4, % faeiff= D

Question Number : 158 Question Id : 7532291984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Goitre is caused due to deficiency of:
Options :

1. * Fluorine



2. % Jodine
3. * Tron

4. % Vitamin K

Question Number : 158 Question Id : 7532291984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T fp ! HHt & HRUTEIAT §
Options :

1. ® TR

2. ¢ IS

3. % 3IIRA

4. % faef K

Question Number : 159 Question Id : 7532291985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of conventional non-renewable energy sources?
Options :

1. ¥ Natural gases

2. % Biogas

3. % Solar energy

4. % Geothermal energy

Question Number : 159 Question Id : 7532291985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 9 o gRuR® IR-Adieulia SHell Hidl &1 U I3 62
Options :

1. ¢ THiad T4

2. % SN



3. % IR Gl
4. % YdIig Sl

Question Number : 160 Question Id : 7532291986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an incorrect option regarding universal rules of nomenclature?
Options :

1. # Biological names are generally in Latin and written in italics

2. # The first word in a biological name represents the genus

3. % Both the words in a biological name, when handwritten, are separately underlined

4. ¥ First word denoting the genus starts with a small letter while the specific epithet starts with a capital letter

Question Number : 160 Question Id : 7532291986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofafaa § Q fawer 9 ugfa & T+ aw & garfee Ted 82

Options :

1. % Sifge A U afed Wi H 8d € SiR fares stert o ford o §

2. % 9 T & Ug el g IR BT §

3. % Sifde T8 &) 51 819 A R & ad ST Weal bl SHTT-37eRT Yifhd bR &

4. ¢ UGl &R Sl I 19 P g1l §, I8 BIeT 31&R T IHT AT SIdfh SIfd Tobd Ug H FST 31eR g1 A1y
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Question Number : 161 Question Id : 7532291987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mark the incorrect statement regarding Autotrophic nutrition.

1. Carbon and energy requirements of the autotrophic organism are fulfilled by photosynthesis
2. It is the process by which autotrophs take in substances from the outside and convert them into stored forms of energy.
3. Substances are taken in the form of carbon dioxide and methane which is converted into fats in the presence of sunlight and chlorophyll.

Options :

1. # Only 2

2. % Only 3

3. # 2 and 3 only
4. % 1 and 3 only

Question Number : 161 Question Id : 7532291987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

OIS 9ol & Hey H 39 YA fafed o1

1. SISt Sitq &1 BTe qUT Soll B HTIRIHATY ThT=T Y0 GRT G giehl g

2. I8 98 Wb ¢ ford Tt amex 9 forg uerdf &1 St dfad ® 0 § uRafdd ax carg |

%.a‘s’tlfﬂﬁqﬂq'ﬂ SIS 3HqTsS quUT {9 & U H fo S1d € off - 9t U1 ail FaRITUhd $f Iurfd § g # gRafad &R 4T S
|

Options :

], % Bad 2

2. ¥ $Had 3

3. % Had 2 3R 3

4. % Had 1 3R 3

Question Number : 162 Question Id : 7532291988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Movement in plants that occurs in response to light intensity is known as-
Options :

1. # Photo philia

2. ¥ Photonasty

3. # Photo sensitivity

4. % Photo motorism

Question Number : 162 Question Id : 7532291988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTGq H UHTRI $I el &1 Sfehar § g arell Tid &I Had o-
Options :

1. ® UpTe fihierr

2. ¢ UBTRATIH T
3. % YHT HdeaRiadl




4. % YPHTR HicdIG

Question Number : 163 Question Id : 7532291989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following organs if get damaged will cause visual impairment?

1. Pupil
2. Retina
3. Optic nerve

Options :

1. # 1 only

2. % 1 and 3 only
3. % 2 and 3 only
4.4 1,2 and 3

Question Number : 163 Question Id : 7532291989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praffed & § a1 Wi &foRd 89 Q Fe-Reh gt 2
1. gaeit

2. 3fer

3. b diADT

Options :

1. % Bad 1

2. % Had 1 3R 3

3. % BHad 2 3R 3
4.4 1,2 3R 3

Question Number : 164 Question Id : 7532291990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Oxygen is found in the elemental form in the atmosphere to the extent of:
Options :

1. % 96 percent

2. % 21 percent

3. % 33 percent

4. % 80 percent

Question Number : 164 Question Id : 7532291990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HiiToH argHsa # difd® w4 # fog diar d& ure Sl 6:
Options :

1. % 96 Ufcr=rd

2. ¥ 21 Ufa=A

3. % 33 gfa=rd

4. % 80 Ufcr=rd

Question Number : 165 Question Id : 7532291991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The upward and downward growth of shoots and roots, respectively, in response to the pull of earth or gravity is known as:
Options :

1. # phototropism

2. ¥ geotropism

3. # hydrotropism

4. ¥ chemotropism

Question Number : 165 Question Id : 7532291991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIE TUT TS T SHHRT: IR 74T ST 3fG gl a1 o o RaTd &1 Sfohan &1 a1 Had 82

Options :



1. ® UPHRMIac
2. ¢ @A
3. % Sargdad

4. ® I

Question Number : 166 Question Id : 7532291992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The roots of plants have an important role in preventing:
Options :

1. ¥ soil erosion

2. % humidity

3. % ecarthquake

4. # pests

Question Number : 166 Question Id : 7532291992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ulel &1 SIS} T AHY™ T Agayul YHHT gt &:
Options :

1. " Hal AU

2. % i

3. % YU

4. % Pl

Question Number : 167 Question Id : 7532291993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fusion of gametes is not involved in —
Options :

1. # sexual reproduction



2. ¥ asexual reproduction
3. % amphimixis

4. # isogamy

Question Number : 167 Question Id : 7532291993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP b g [ H e et g 82
Options :

1. % G Yol

2. ¢ 3 oA

3. % YRR (IHI-HT)

4. % JHGHD I

Question Number : 168 Question Id : 7532291994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following organism reproduces asexually by spore formation?

1. Mucor
2. Penicillium
Choose the correct code—

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. #® Neither 1 nor 2

Question Number : 168 Question Id : 7532291994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 § g ofia &1 s S fFafor g 8ar 82



1. ;PR
2. Ufaferaw
Tl D18 -

Options :

1. % $ad |

2. % Had 2

3.9 Q1 3R 2

4. % A1 3RAE 2

Question Number : 169 Question Id : 7532291995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mark the correct statement regarding sex chromosomes?

1. Women have a perfect pair of sex chromosomes, both called X
2. Men have a mismatched pair in which one is a normal-sized X while the other is a long one called Y

Options :

1. ¥ 1 only

2. % 2 only

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 169 Question Id : 7532291995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 o1 O Fraiferd gt By ol fafgd |

1. il H TURIA T 4UT g BIdl § a1 &l *X Hedld g |
2. G5 7 g SireT Ryl SireT el gidT, s Teb 101 G G 3R 1 <X Bl & a1 S8R UREE 81 81T & o/ Y’ UG Hgd o

Options :

1. ¢ &Had |
2. % Had 2




3. % 1 3R 2 gl
4. % 91 3RT2

Question Number : 170 Question Id : 7532291996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the tails of mice are removed by surgery in each generation, do these tailless mice have tailless progeny?
Options :

1. ¥ No, because removal of the tail cannot change the genes of the germ cells of the mice.

2. # Yes, because removal of the tail can change the genes of the germ cells of the mice

3. % The length of the tail reduces with each generation and eventually gets lost.

4. # Yes, there will be change in sex choromosomes

Question Number : 170 Question Id : 7532291996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g7 gl D1 US Dl s Ule! db blcd e, dl 1 S g1 A foHT1 U aredt Fafd ured gt
Options :

1. ¢ 81, Fifeh IS Pl W S DITRIBISA & - IR Pls YHTd g1 gadl

2. % B, Fifs US PleA T T BRSBTS & SfiH IR UG Sl §

3. % U B da1s Ud® Ud! & a1 &Y gid! ot § 3R 3fdd: | 5 3|

4. % gf, ifp fof g7 H seama g1

Question Number : 171 Question Id : 7532291997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wings of bats are skin folds stretched mainly between elongated fingers. But the wings of birds are a feathery covering all along the arm. The
designs of the two wings, their structure and components, are thus very different. They look similar because they have a common use for flying,
but their origins are not common. Which type of characteristic/s is this?

1. Homologous characteristic
2. Analogous characteristic

Options :



1. % 1 only
2. % 2 only
3. % Both 1 and 2
4. % Either 1 or 2

Question Number : 171 Question Id : 7532291997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TNES & U7 T-IA: IUP! aifdd SHIeH % Hed 1 dl & U 9 &1 5 | TR Ueft & U4 SU! T SFTETg Bt @l & halld 9 ST §
S RT Y gB @l g1 3(ck: &l UT &b M Hhed, ITa! Ta1 Ud o] § 9gd 3R g1 d T o faars 3d § ifeh 3 I & forg sqar
SUTNT R & TR T B SRy quia: T T B 1 R ke B SHfie 29

1. FHOITd A&
2. gAY YT

Options :

1. % Had 1
2.+ Had 2
3. % 1 3R 2 gl

4. % g1 412

Question Number : 172 Question Id : 7532291998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ability of the eye lens to adjust its focal length is called
Options :

1. # Power

2. % Accommodation

3. % Refraction

4. % Reflection

Question Number : 172 Question Id : 7532291998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

o TN B I8 & o HRUT a8 U By gl I JARINd R adls Hedwdi gl
Options :

1. # &Hdl

2. ¢ GHSH (FHTISH)

3. % 3UqcH

4. % yfafds

Question Number : 173 Question Id : 7532291999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If one wants to donate his/her eye, then after how much time after death, eyes should be removed from body?
Options :

1. ¥ 4-6 hrs

2. % 6-12 hrs

3. % 7-8 hrs

4. % 12-24 hrs

Question Number : 173 Question Id : 7532291999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g DI YT G HT A8l §, 6 Jg & fha- IHT a1 TRR T 31 geT ¢t A1fgu?
Options :

1. ¥ 4.6%¢

2. % 6-1276C

3. % 7.86c

4. % 12:24%¢C

Question Number : 174 Question Id : 7532292000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Why presbyopia occurs?

1. Due to gradual weakening of ciliary muscles
2. Diminishing flexibility of eye lens

Options :

1. # Only 1

2. % Only 2

3. % Both 1 and 2

4, % Neither 1 nor 2

Question Number : 174 Question Id : 7532292000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRT-GREPIAT o I gicll 82

1. vermt O & e e god 81 & BRI
2. fopeedita o & U | ®HT 3 & BRI

Options :

1. % $ad |

2. % Had 2

3. ¢ 1 3R 2 M
4. % T 1 3RT2

Question Number : 175 Question Id : 7532292001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ganga action plan was initiated to reduce:
Options :

1. ¥ Pollution load

2. % Construction of dams

3. # Qil exploration

4. ® Flooding



Question Number : 175 Question Id : 7532292001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T Ao B a1 HH B & Tl R [T 7T U192
Options :

1. ¢ UgUUl HR

2. % qieff o1 At

3. % & @l

4. % dlg

Question Number : 176 Question Id : 7532292002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following should not be included in Volatile organic compounds (VOCs)?
Options :

1. # Methane

2. # Benzene

3. % Toulene

4. ¥ Glycerol

Question Number : 176 Question Id : 7532292002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 fod S See D! @i & wnfia Tg! fasar S anfee?
Options :

1. % Hige

2. % §oiA

3. % <l

4.« TIERTA



Question Number : 177 Question Id : 7532292003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the temperature at which the water vapour begins to change into water drops?
Options :

1. # Freezing point

2. % Dew point

3. * Frost point

4. % Crystallisation point

Question Number : 177 Question Id : 7532292003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg AU TR 9T, Yo & S8 ofd &1 §g H aRafid g St 82
Options :

1. % fgAi® fdg

2. ¢ 3y foig

3. % QURTdg

4. ® fopxcdiiorur fig

Question Number : 178 Question Id : 7532292004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect?

Options :

1. # Fertilizers and pesticides can destroy the soil structure.

2. # Earthworms are a major contributor to formation of humus.

3. ® The biodiversity in an area is determined by the quality of topsoil largely.

4. % Humus causes the soil to become less porous.

Question Number : 178 Question Id : 7532292004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

foferfad & ¥ o 1 By Ted 82

Options :

1. % IRP AR Pl S B AT B I8 R Thd gl

2. % Squ gAY & A0 & U Ui deHddi o |

3. % ot & O o9 fafaedr w1t ge d% Sl et &1 o ¥ Fuffid gt g
4. v g S &1 oA fgygul AT g

Question Number : 179 Question Id : 7532292005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What do the plants convert the nitrates and nitrites into after they fix the atmospheric nitrogen?
Options :

1. ¥ Methane

2. ® Urea

3. % Nitric acid

4. ¥ Amino acid

Question Number : 179 Question Id : 7532292005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qgHSHY ATEcIoH &) RR H & d1¢ 0 TEeey 3R TEersed & fhgw uRafdd #d 8
Options :

1. % Hig"

2. % gRAT

3. % RIS TS

4.« T TRTS

Question Number : 180 Question Id : 7532292006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a fodder crop?
Options :

1. % QOats

2. % Castor

3. ® Sesame

4. % Lentil

Question Number : 180 Question Id : 7532292006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeifead § ¥ o th IR B 82

Options :
. s
2. % HER
3. % fad
4. % HIR

Discipline5
Group Number : 10
Group Id : 753229109
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No

Discipline5



Section Id : 753229109

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229132
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532292007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why is dwarfness desired in cereals?
Options :

1. # It requires less sunlight.

2. # Its quality is enhanced.

3. % Less nutrients are consumed.

4. ¥ These crop-varieties are very tasty.

Question Number : 181 Question Id : 7532292007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T & forg I I o Suged 82
Options :

1. % Y HY YU DI IGHAT 81K & |

2. % QP! UG | gi I o

3. ¥ Y UING ddl B SaIDHdl Bicl 6|
4. % YHYA-[HW ggd WieP g 8|



Question Number : 182 Question Id : 7532292008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following problems arise if excessive fertilisers are used?

1. Water pollution
2. Destruction of soil fertility
Choose the correct code.

Options :

1. ® Only 1

2. % Only 2

3. ¥ Both 1 and 2
4. % Neither 1 nor 2

Question Number : 182 Question Id : 7532292008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe it Iaxe! T IUAIT fhar oiran & af Fufeafad 7 9 o df g9 3w gidl 82

1. 9
2.%@%@%
Tl ple |

Options :

1. % $Had |

2. % $Had 2

3. Gl 1 3R 2

4. % A1 3RAE 2

Question Number : 183 Question Id : 7532292009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following has the highest percentage of fats?
Options :



1. % Milk (Cow)
2. ¥ Egg
3. % Meat
4. # Fish

Question Number : 183 Question Id : 7532292009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefaa o 9 foraw o o1 ufasa waffie giarg?
Options :

1. # Q¥ (1Y)

2. ¢ 3ET

3. % A

4. % HGAl

Question Number : 184 Question Id : 7532292010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fish varieties is not a marine fish variety?
Options :

1. # Mackerel

2. # Tuna

3. % Catla

4. % Pomphret

Question Number : 184 Question Id : 7532292010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofifea 7 3 o @ vodh 3 fow g9l 7o Bt fee & 82
Options :

1. % Ahd



2. % ol
3.« Phedl
4. % giahc

Question Number : 185 Question Id : 7532292011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a Zaid crop?
Options :

1. # Arhar

2. # Tobacco

3. ¥ Gourd

4. # Lahi

Question Number : 185 Question Id : 7532292011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrofaRad o 9 HH-3 S &t Bad 82
Options :

1. % 3R

2. % ddIp

3. ¢ Dt

4. % QG

Question Number : 186 Question Id : 7532292012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cerocen and Agrocen are used for-
Options :

1. ¥ treatment of seeds

2. % increasing the soil-fertility



3. # growth hormones in cattle

4. # eliminating weeds

Question Number : 186 Question Id : 7532292012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRR TR TG T IUINRT b Tl B-
Options :

1. ¢ SISl BT IUAR & felg

2. % fIEt ot IaRar ¥ gfg & fag

3. % HARWl # gf g1 & forw

4, % WRUJAR Y HAl

Question Number : 187 Question Id : 7532292013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bos Indicus is a/an-

Options :

1. ¥ Indian cow

2. ® Indian buffalo

3. # Indian honeybee

4. ® Indian hen

Question Number : 187 Question Id : 7532292013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I iU 8 Uah-

Options :

1. ¢ YR T

2. % YR 99

3. % YR qyqoa!



4. ® YR g

Question Number : 188 Question Id : 7532292014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When boiled water is allowed to cool, heavy impurities collect at the bottom and dissolved salts form a thin layer on the surface called-
Options :

1. # Impurities

2. % Waste

3. % Slug

4. ¥ Scum

Question Number : 188 Question Id : 7532292014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OId IS gU O B SUST T SfTdlT & df KT SrIfedi ad R 93 St & SR oIt | Yl 34T THS Idg UR Tae I IRd & &0 H o STl
& for #8d ¢-

Options :

1. % Gl

2. % 3[URY

3. % W

4. ¥ T (WF)

Question Number : 189 Question Id : 7532292015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the practice of controlling the establishment, growth, composition, health, and quality of tree to meet diverse needs and
values?

Options :

1. # Reforestation
2. # Afforestation
3. % Silviculture



4. % Horticulture

Question Number : 189 Question Id : 7532292015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed & 3 g ufshar 8 & I 8 ol urell &1 A fa Ao, fawT, Taer, Wred SR orad &1 fafie srawadmdrst 3R gedi &
T H IR g fHar e g2

Options :

1. % gl

2. % G AT

3. ¢ Rifeddhee’

4. % EIGE

Question Number : 190 Question Id : 7532292016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Apis florae is a type of

Options :

1. # Flower

2. % Hen

3. ¥ Bee

4. % Cow

Question Number : 190 Question Id : 7532292016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR (Apis florae) T UHR &I gl
Options :



4. % 7MY
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Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 7532292017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who out of the following had developed the theory of trial and error learning?



Options :

1. ¥ E.L.Thorndike
2. # B.F. Skinner
3. # E. C. Tolman
4. # ]. B. Watson

Question Number : 191 Question Id : 7532292017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofeiead & § feam udarmn oik 7S i 1 Rysia faw R fasan um
Options :

1. ¥ S TA.UHSBH

2. % 9§l Th RER

3. % 3 41 <A

4. % . & 9req

Question Number : 192 Question Id : 7532292018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following teaching methods the whole class is divided into different homogeneous small sections on the basis of abilities so that
teacher can remove their difficulties by giving them individual guidance?

Options :

1. # Lecture method

2. ¥ Demonstration method
3. # Question-answer method
4. ¢ Tutorial method

Question Number : 192 Question Id : 7532292018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad o 9 ford R ugfa @ O3 wan &1 A & SMuR W & i Seirdig ic avt & fquifora foar sirar § difes Riere afaama



ARIGRM SR IH! HISR! DI GT HR dh?
Options :

1. % R fafd

2. % yeRiH fafy

3. % Uy-IR fafY

4. ¢ ScIRga fafe

Question Number : 193 Question Id : 7532292019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following types of home-assignement can be given to the students?

1. Informational
2. Study type
Choose the correct code.

Options :

1. % Only 1

2. % Only 2

3. % Both 1 and 2
4. # Neither 1 nor 2

Question Number : 193 Question Id : 7532292019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed # § {5y UeR &1 Tesrd oE &I faar o g g2

1. LIS
2. T YHR

el ple |
Options :

1. % had 1

2. % Had 2

3.¢ 1 3R 2N &




4. % I 1182

Question Number : 194 Question Id : 7532292020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following sections of the Right to Education Act, 2009 provides for the Right to transfer to other school?
Options :

1.¥5

2.%6

3.% 7

4. % 8

Question Number : 194 Question Id : 7532292020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &1 SfIBHR S1ffATH, 2000 H1 FHARTET # ¥ B T 4RI IR o d H RIFTARU 671 HABR T BT 82
Options :

1.¥5

2.% 6

3.% 7

4. % 8

Question Number : 195 Question Id : 7532292021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following stages should science be introduced as separate disciplines with emphasis on experiments/technology and problem
solving?

Options :

1. # Primary stage

2. % Upper primary stage
3. ¥ Secondary stage

4. ¥ Higher secondary stage



Question Number : 195 Question Id : 7532292021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed 7 3 forg aRor & fagm &) s it SR THer 9H1e™ W SR 34 & 91y 3@ fawdl & U # oy faear S anfew?
Options :

1. % UrYfHep =Rl

2. % 3= YIYHe TR0T

3. % WG IROT

4. ¢ IR HIH TS TROT

Question Number : 196 Question Id : 7532292022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was EDUSAT launched?
Options :

1. % 2000

2. % 2001

3.9 2004

4. % 2007

Question Number : 196 Question Id : 7532292022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TgHe & fory 9y Qg fopam T/ T
Options :

1. % 2000

2. % 2001

3. % 2004

4. % 2007



Question Number : 197 Question Id : 7532292023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which age can a child generally start to name colours?

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1.2 years

2. 3 years

3. 4-5 years

4. 7-8 years

Question Number : 197 Question Id : 7532292023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o IH T U o=l S dR WR N &1 Uga HR A1 A1 = HR Gohdl g2

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
1.2 9l
2.3 9l
3.4-541d
4. 7-8 Hlcl

Question Number : 198 Question Id : 7532292024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average nutritional intake of women in India is estimated to be -

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. 1400 calories daily

2. 1800 calories daily

3. 2000 calories daily

4. 2500 calories daily

Question Number : 198 Question Id : 7532292024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR § Afgansil &1 Sid Uiy da SgHd g -
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. ufafe= 1400 Ha

2. ufafe 1800 HART

3. gfafe 2000 AR

4. 9fafe 2500 HAR

Question Number : 199 Question Id : 7532292025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has said, “Scientific method consists of systematic observation, classification and interpretation of data”?
Options :

1. ¥ Lundberg

2. % Pearson

3. #® Koils

4. % Jobs



Question Number : 199 Question Id : 7532292025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o P81 7, "AHP Ugld & ST BT Al Sadic, TiiTh T 3R SRS XM 32
Options :

1. ¢ dge
2. % U
3. % Pplscq
4. % Sieq

Question Number : 200 Question Id : 7532292026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full-form of CCE?

Options :

1. # Continuous and Cumulative Education

2. ¥ Continuous and Comprehensive Evaluation
3. ¥ Complete and Comprehensive Education

4. % Continuous and Cumulative Evaluation

Question Number : 200 Question Id : 7532292026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R g e Rt R

Options :

1. * $HIg3ry TS FgHalfed TobH
2. ¥ HEAYIRT TS BRI IdeguH
3. % P TS HIUIE R ThRH

4. % HAYIY TS T T IagUIH



